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1. Strictly avoid resorting to any unfair means during the
2. J
3. Working notes should form part of your answers<3'4 js-;
4. All five questions are compulsory.
5. Use of simple calculator is allowed.

A) State whether the following statements are
1)

Paper I Subject Code: 23001 / Financial Accounting & Auditing : Paper V Finarigia^Cceunff^

[ 2% Hours ]
Please check whether you have got the right questipu\paper.

LI l„e j -..fair means during the examhiaiiQ^
Figures in brackets to the right indicate full marks allptte&td'the ^ubstion<\/44^^^4^y/^

As per AS-14, Purchase Consideration, 
Debenture holders of Vendor Company;,' 5 ••
In the process of Internal Reconstrujctionyjdecreasp-'-in-the'\^ue.:Qfiah^asse^i4. 
is debited to Capital Reduction Account. ' / ' , ; '-C?
Debentures are fixed income bearingJnVestniqrit. ’j' ,. \, ; :
Loose Tools are shown under the head inventories while pfeparing.Balance 
Sheet of a company. ' -
At the year end investments .are always valued, as per Weighted Average 
Method. ' ’ ' ' ' ..
When an investor receives Bonus Shares, .in his .books, it increases his 
holdings in the company without any addition to the cost of total investment 
including the Bonus.Shares received. ;?
In case of JriternaFReconstruction, payment of a Contingent Liability is a 
loss. ' W '?■ 4-' ,o*

8) Live Stocks are Fixed-Assets. . x
9) VendQT'Coirip any gets.- liqiii dated <bn Ama I gamation.

10) Arrearsrof- pf efeyerice: dividend i^;cpntingentItabil ity.
B) Select-;the<rripst ap.prp^ Choices to fill in the (07)

blanks arid .rewrite the sentences (Any Seven):
/Yl^fAiTiaigaination'is governed <by. (AS-11 IAS-13 / AS-14)

Sub-division of shares results .iri .̂ (increase in share capital /
- . '. .decrease in share capital I only alteration in share capital) 

:^4i;-'At th’e;end’-of.the year In vestments are shown in the books at .
.-^•4 -'< 4 ' .(dost7 market value/ cost, ot value whichever is less)

Anialgarnatibn, assets taken over are recorded in the books of Buying 
y^'SdmpanyM <• (book values as appearing in the books of Vendor 

' >;<^<^^7?^^^^nipany:Z triarfet^aiueT-values at which such assets taken over)

1 International Financial Reporting Standards
s. ^ferh^ti^nal 'Fip_Undial reconstructing Standards)

Bank Overdraft is shown under the head.
1 Short Term Borrowings I Other Current Liabilities) 

Loss Account, Dividend Received is.  
Operations I Other Incomes I Appropriations) 

 ^x^^^^t^4^feWai'fteconstruction involves.

</sSS3^^*y nviom



Credit

Total
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2,25,000
1,05,000

OR
2. The following Trial Balance has been drawn from the books of P Ltd. as on 31st March, 2018: (1 

Debit

25,000

10,000

75,000

60,000

40,000

1846,500

Share capital

Unsecured loan

Creditors

Liabilities for Expenses

General Reserve

Provision for Taxation 

(last year)

Secured loan

Provision for Tax

(Current Year)

Depreciation Provisions :

- Plant

- Furniture

- Profit & Loss Account

- Securities Premium

Total

44,500

11,000

53,000

85,000

18,16,500

5,00,000

2,50,000

1,50,000

43,000 

2,00,000 

1,50,000

1,00,000

2,30,000

.. 5,0.0,000

5,05,000

~~63ocT
1,10,000

12300

1,42,500

54270
■ A
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Trade investment (at cost) -
•_ ; • -(in;fully.paid shares.of ?= 10 each;

Security Deposits . ,/

. - Cails in Airears.- .. M

■ .7 Closing stock (at cost)
. -

• Debtors " ~-------------
' W; ■ ■ "

x-/v • •

Goodwill

Plant

Cash in hand ■

Cash with scheduled Bank

Advance to Suppliers

Advance Income tax paid 
(last year)

Advance payment of income tax

Paper / Subject Code: 23001 / Financial Accounting & Auditing : Paper V Financial Accbun

(Only one company / two companies I two or more compan^)^^;^
9) On completion of process of Internal Reconstruction, balance in<0^^ 

Reduction Account, if any, is transferred to -- (General Reserve’
Account I Capital Reserve Account / Profit and Loss Account) ’ . '

10) On Amalgamation, balance in Preliminary Expenses Account is transferred to
. (Realisation Account / Buying Company AccpunfW^^ 

Shareholders’Account) WW '■?W WWa?

2. Mr. X held on 1st April, 2017 T3,00,000, 8% Bharat Debentures Stock at WSSi (ntere^Dj 

being payable on 30th September and 3 Ist March each year. _■ \ 'W .y
On 1st June. 2017, he further purchased kF 1,00,000, 8% Bharat Debentures Stock

at T96 ex-interest. C ■ - f .D;,.■'
On 1st September, 2017 ^1,00,000 of the stock was sold at <99 ex-interest and

on 31st October, 2017 7=80,000 stock was.purchased atW97 ex-interest. On P'Rebriiary)
2018 ^60,000 stock was sold at ^100 cum-interest,

The market price of Debenture stock on 31st March, 2018 was 97%. •
Mr. X closes his books of accounts on 31st March every year.
You are required to prepare Investment Account in the books of Mr. X to record 

the above transactions.

.. Security Depostts .

CallsmArrears.;. ■



1

> 

)

assets?
" z‘

C)

d)
e) 
0

T

90,000 

1,60,000 

2,54,000 

3,24,000 

1,30,000 

1,40,000

6,00,000
5,00,000.”

2,00,000 "

12,000 ”

2,62,000 "
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The following further particulars are available :
a)
b)

'.•>^A'An’n,'Ae'n7.-TS

:, ..... ... ..

X.; -

<< y Liabilities 

^are Capital (of ^10 each).

60«l&ls::yShares

;'i2% Debentures (Secured)

Paper / Subject Code: 23001 / Financial Accounting & Auditing : Paper V Financial Accounting.,V7‘

Unsecured loan is from a director. /
Secured loan is from the Company’s bankers obtained against charge bfzaU'assete^^ 
the company.
Authorized Capital of the Company consists of 1,00,000 Equity Shares Of ^,10 each; ' ;
Market value of trade investments is ^1,35,000. /
Sundry debtors include ^10,000 due for more than sixmonths. , . y_. '
Share capital is represented by 50,000 Equity Shares.ofTlO eachfolly called
which the last call of ^2 per share on 5,000 shares has not been received. . ' '

Prepare Balance Sheet of the company in the .prescribed .-fonp froin.t^^bQ^ /?'
Balance and additional information given. -;£;99;’-;’zx c;/f ’ ? ,<■ ''• <* -9-f 6 ■"

3. Mr. Black carried out during the year ended :31sl March;2018; the following transaction (15) 
in the shares of White Ltd. .

On 1st April, 2017, he held 5,00Q-;equity shares.of%10 each fully paid at T J,25’^000.
On 16th April, 2017, he purchased I;0.00 shares for T30,000 from market.

At a meeting on 26th June, 2017; the company resolved.
a) by way of capitalization of reserves, to make a bonus issue of 1 fully paid share for

every 6 shares held on 10 June, 2017; and
b) to give its members the right to apply for one shares for every 10 shares held at price 

of ^27 per share to. be paid-by 31st August, 2017.
The shares issued under (a) and (b) above were not to rank for final dividend for the 

year ending on 31st March,.20.17.
On 1st July, 20.17, Mn.Black received his bonus shares apd further he took up half his 

entitlement under the right issue, paying the amounts, on due date. He sold the remaining 
rights for ^-2 per shares & received the proceeds on 16th August, 2017.

On lO'^January^OlS, Mn- Black received a final, dividend for the year ended 31st 
March,.2017 -@ 7?5%.

pn^l^MarbhrZOLS; he sold. 2,000 shares @ ^29 per share.
Show the investment accounts in.Mr. Black’s books for the year ended 31st March, 2018.

■ • OR
3. 2 Ltd.had ^adverse trading, for. past few years resulting in accumulated losses and overvalued (15)

■ ■ ; / ... ' Its Balance Sheet as on 31st March, 2018
Assets

Goodwill

Freehold Property

Leasehold Property

Plant

Investment

Stock



Debtors2,80,000Overdrafts

18,54,000Total

(1!

40,000

8,65,000 3,40,000

I

I
I

YCo. 
Ltd.

/Si® 
2J38WI

Total

a new company called Z Ltd. which

5,50,000

80,000
" 70,000

15,000

XCo. 
Ltd. 

1,50,000

2,50,000 
~ 40,000 
" 45,000

5,000

Assets

Land & Building

XCo.

5,00,000

Y CO.

3,00,000

Tlarit <£ Machinery

Stock
Debtors
Cash

Note : Preference Dividend is unpaid for past five years. / .
The shareholders and the court approved the following scheme of reconstruction :

1) ' 

1,00,000

1,70,000
20,000
15,000
50,000 

,'■> '/< ■ z-_ •

1.0,000
d ~ Total- 8,65,00(fJ

companies,

at a book value- Both companies are to receive 5%
-o „ . .. . . ; as Goodwill.

e'«irt; Purchase price is to be paid by Z Co. Ltd., in its fully paid shares. In return for 
debentures of the same amount and denomination are to be issued

- ,/®' i f ■ You ^re retlmred to calculate Purchase Consideration of both the companies and prepare

Paper / Subject Code: 23001 / Financial Accounting & Auditing : Paper V F‘naricial^ii^

® <->
Profit and I .oss A/c ' 7

The paid-up value of Pref. Shares and Equity Shares was to be reduced by 25% and75% ;
respectively. The Face value will remain unchanged.^ \ : , '.■.■••‘C

2) The Pref. Dividend for two years is to be paid by allotment Of.Equity Stores credited T^;
^2.50 per share. The remaining amount to be cancelled. \. /' . \ ' • < S7

3) The Debenture holders took over freehold property in full-settlement of their claim; j; 4*4
4) The investments are sold for 1,60,000. T
5) Obsolete stock worth T20,000 and Irrecoverable Debts, worth T22,000 are to be.Written.

off along with Goodwill and Profit and Loss Account.
6) There was a claim against company not provided to the extent of^20^000. TKis iwas

settled for Rs. 8,500. ‘ ,
You are required to show Journal Entries and Capital Reeducation Account after 

implementation of the scheme. . <

4. The following are the Balance Sheets as on 31st March, 2018 of X Co. Ltd. and Y Co. Ltd.
Liabilities

Equity Share Capital
(^100 per share)

18% Debentures of ?10 each
Reserve Fund

DividendEqualizatidh. Fund
EmployeeS^rbvldent Fund

_____ -V -S. <■ ,
Trad^itprs/ , —
profit ■&.j^bss^y? ’.<' a ;

■ b444:4^?- agreed to amalgamate and form

- 4^Ltd..are taken over at a reduced valuation of 10% with the exception
■ ofl'AnJ.arir1<-R»i5lzI?Mrr a—~"

4<4:.4;. respective business
.. ;z- '■’q' ? ’’.Th'ft'fttlf frp?niimUaca __ :j i__. »■

E- ■ " .' < ■'^UWikuA.<».4ii-A;-VQ^jbTQ.;

qf 7 7: ■ 'S Aby|:CoTtfeT-;- 77/
-------- ----  -1 ^UHSlUCIdUU

the books of X Co. Ltd. only.

Page 4 of 11



Assets 2/v

10,00,000

14,00,000

• A.

37,90,000

of the balance irilmediately.

(15)

Page 5 of 11

6CEE31F3FCD164F5E3F8F7AC70CADCEE

(08)
(07)

4,00,000
5?60,000

4,30,000

, Profit and Loss A/c

■ Discount on issue of Debentures ;
.2,~~ s Total

Land

Building

Plant & Machinery

Trade Mark

Goodwill

Stocks

Debtors

Total

Scheme as proposed by the directors is as below :
1) Bank agreed to waive interest amount outstanding of ^30,000 included in the

2,30,000 

5,20,000 

6,75,000 

i,5o;ooo
. 3,00,000 I 

3,20.000 
5,46,000 ’

■ 10,24,000

' 25,000
C.? ‘<z__________

2 37,90,000

■ ■■•2 / 2 /. /.■> ■■ 22;

Paper I Subject Code: 23001 / Financial Accounting & Auditing : Paper V Financial RecountingY'YY

,V'C.'"'v 
• '2'1 s. Y ///22'2 Y 22

4. B Ltd. was in serious financial crisis and the Directors considered it ad visable to Ro in <. ,(15) .
for Internal Reconstruction : -,-<2..2 < -2 2 2- --2

Balance Sheet of B Ltd. as on 31st March, 2018 ,;2222 - ' -fi'
Liabilities

Preference Share Capital

(^100 paid-up)

Equity Share Capital

(^10 paid-up)

12% Debentures

Creditors

Bank Loan

balance subject to immediate.payment of 50% of their remaining dues.
2) Value of Land was increased by 150%, and Building revalued at ^5,00,000.
3) Debenture holders agreed to reduce their claim by 20% provided they are paid 20% 

of the balance inimediately.
4) Preference shareholders to reduce their shares to T60 fully paid-up.
5) Equity share holders to reduce their shares to ^2 per share fully paid-up and 

subscribe 5,00j000 new Equity Shares of T2 each at par.
6) Write off Goodwill, Profit and Loss Account and Discount on issue of Debentures.
7) Trade Mark to be revalued at ^1,40,000 and Stock at ^3,00,000

Giyenecessary Journal Entries on implementation, of above scheme of reconstruction.
. ■> 222■ /Y■ ■' <5.2 2

5, •,/Xnswer the following: ?.
2•;''''31) - Explain id detail the’ precess ;of Internal.Reconstruction.

'2b)<c E^lairi Ae heed of Convergence with IFRS in India.

short notes (Any Three) ; ■ . ■
-. 1):; Purchase Consideration .
<<. - 2), Vl^ihtdfe^ and Cum-interest Quotations

<5)7; jBontis-Shares and'Right Shares
;ss£

2 "hr/?'' ' 2-.;
- , \

'^'2:' ' 2'
■<"2<-.-/'2

; 2 •
■ ■ ■'

' S c.



[Total Marks: 100][3 Hours]

I

(10)1(A) State whether following statements are True or False (Any Ten)

of Companies Act

paid up shares.

only.

word.

A/c.

of its own funds.

to Capital Reduction A/c.

54154 1

N.B. (1) All questions are compulsory. Questions 2 to 6 have an internal choice
(2) Figures to the right indicate full marks.
(3) Use of simple calculators is allowed.
(4) Working notes should form part of your answer.

Paper / Subject Code: 23101 / Financial Accounting and Auditing VII Financial Accounting

1. A Debt Equity Ratio after buyback of shares should be maintained up to 2:1 as per 
legal requirement.

2. Reduction in Liability is debited to Capital Reduction A/c.
3. Investment Accounting is governed by AS 13.
4. In personal investment accounting, dividend received on shares for pre-acquisition 

period is treated as revenue gain.
5. Goodwill is classified as Fixed Asset under the Companies Act
6. As per CSR policy it is mandatory for certain companies to spend 5% of their average 

net profit of three immediately preceding financial years.
7. Law has a legal binding but Ethics do not have a binding nature.
8. Consolidation of shares results in profit for a company.
9. Interest Paid is disclosed under Finance Cost in Profit and Loss A/c.
10. For a company, dividend paid is an expense.
11. Capital Reduction requires court's sanction.
12. Public deposit is secured loan.

1(B) Rewrite the following sentences choosing the correct answer (Attempt any 10) (10)
1. Bills receivable is shown under in Balance Sheet. 

(Trade Receivables/ Other Current Assets)
2. Internal reconstruction is done as per section 

(319/66)
3. Buyback of equity shares can be of 

(Fully/ Fully and Partly both)
4. Ex-interest price includes 

(Interest/ Cost)
5. The term ‘Ethics’ comes from 

(Greek/ Latin)
6. Accounting Standard Board is constituted by 

(ICWA1/ICAI)
7. The premium received on sale of Rights is credited to 

(Investment/Profit & Loss)
8. A company cannot buy back more than 

(10%/25%)
9. Reconstruction expenses are 

(Debited/ Credited)



Provisions

Liabilities.

80,00,000

Total Total 2,30,00,000

(15)

OR

54154

20,00,000
20,00,000

20,00,000
10,00,000
50,00,000

20,00,000
40,00,000 
10,00,000 
47,00,000

40,00,000
36,00,000
22,00,000
15,00,000

Fixed Assets 
Investments 
Current Assets
Total

10 The final accounts of companies 
of __________ •

60,00,000 
4,00,000 

20,00,000 
28,00,000 
10,00,000 

1,22,00,000

67,00,000
25,00,000
30,00,000

 1,22,00,000

2.
Liabilities _______
Share Capital:
8,00,000 Equity Shares of ?10 
each fully paid
Reserves and Surplus:
Security Premium
General Reserves
Profit and Loss Account
Secured Loan:
10% Debentures
Unsecured Loans
Current Liabilities &
Provisions:
Creditors
Bills Payable

The following is the Balance Sheet of Mayuresh Ltd, as on 31-03-2018: 
Assets 
Fixed Assets:
Land and Buildings 
Plant & Machinery 
Furniture and Fixtures 
Investments
Current Assets, Loans & 
Advances
Stock
Debtors
Bills Receivables 
Bank

permitted by law at a price of ?20 per share, being the current market price. Investments are 
sold out at a loss of 20%.
You are required to pass journal entries (without narration) in the books of Mayuresh Ltd 
assuming that buy back is earned out. Also prepare Notes to Accounts with respect to 
Reserves and Surplus and Cash and Cash equivalent as on 31st March 2018.
(Do not prepare Balance Sheet)

2. The summarized Balance Sheet of Shalaka Ltd. as on 31-03-2018 is as follows:
Particulars

"Share Capital:
6,00,000 Equity shares of tlO each fully paid
Securities Premium
Profit & Loss Account
13% Debentures
Creditors
Total

10 The final accounts of companies are to be prepared in accordance with the 
of of Companies Act 2013.
(Schedule III/Schedule IV)

11, Arrears of preference dividend is shown under
(Current/ Contingent)

12. Current investments are valued at cost or market value whichever is  
(More/ Lower)

20,00,000
10,00,000

2,30,00,000)_____________________ ......
The Company decides to buy back the maximum number of equity shares as may be

Paper I Subject Code; 23101 / Financial Accounting and Aud.ting vi I Financiai ACCoiJni
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Credit (?)

4,00,000

5,000

15,030
9,000

1,15,500

6,53,030Total

54154

37,500
29,000
16,200

1,00,000 
17,500

3
6CEE31F3FCD164F5E3F8F7AC70C9DBB2

d)
e)
f)

3, The following is the trial balance of Rahul Ltd.as on March 31, 2018
Particulars___________________________
Stock
Purchases and Sales 
Wages 
Discount 
Salaries 
Rent
General Expenses 
Surplus Account 
Interim Dividend Paid
Equity Share Capital: 10,000 Shares of ?10 each
Debtors and Creditors
Machinery 
Cash at Bank 
General Reserve
Bad Debts 4,830 

6,53,030

Debit (?) 
1,25,000 
3,45,000 

50,000 
7,000 
7,500 
4,950 

17,050

Additional information:
a)
b)
c)

Stock on 31st March, 2018 is valued at ?3,00,000
Purchases include ?5,000 machinery purchased on 1-10-2017.
On 31-3-2018 good worth ?30,000 were sold to a customer. He has taken away the 
goods. But no entry is recorded.
Directors proposed 10% final dividend (excluding the interim dividend already paid).
Provide Income Tax for the year ?30,000.
Transfer ?20,000 to General Reserve.

Prepare Statement of Profit and Loss and Balance Sheet in vertical format along with 
notes to Accounts after taking into account the above information. 15)

OR
3A. The authorized share capital of a Tarzan Ltd. is ?1,00,00,000 divided into 50,000 8% 
preference shares of ?100 each and 5,00,000 equity shares of ? 1'0 each. 50% of each class of 
shares were issued to the public fully called up. ?20 per share on 1,000 8% preference shares 
and ?2 per share on 20,000 equity shares was not received.
The Company’s reserves and surplus was as under:
General Reserve (beginning) stood at ?30,00,000, Profit & Loss Account (beginning) at 
?10,00,000. Profit made during the year was ?60,00,000. Interim Dividend paid ?28,00,000. 
Transfer made to General Reserve was ?20,00,000. Profit & Loss (year-end) stood at 
?22,00,000.
Prepare the Note on Share Capital and Reserve and Surplus forming part of the Balance Sheet 
of the Company. (10)

Ascertain the maximum number of equity shares the company can buy back at the 
maximum possible price under the law as on 31st March 2018.
Assuming the buyback is actually carried out, record the journal entries (without narration) 
in the books of Shalaka Ltd. Also prepare Notes to Accounts with respect to Share Capital 
and Reserves and Surplus as on 3151 March 2018. (Do not prepare Balance Sheet) (15)



TermsParticulars

♦
I
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Paper / Subject Code: 23101 / Financial Accounting and Auditing VII Financial Account!

Prepare 12% Debenture Account in the books of Mr. Shivom for the year ended on 31st
March, 2018. (15)

01/04/2017
30/06/2017
01/09/2017
01/11/2017
31/12/2017
01/02/2018
01/03/2018 ___ __________  _______ , _ ____________ _______ .

Interest is payable half yearly on 30th September and 31st March every year. The Books of I 
accounts are closed on 31st March every year.

4. Mr. Shivom gives you his following details of investment for the year in 12 % Debentures 
o«100 each in BH Ltd.

Date

Cost Price % 2,02,000 
^103 Cum-Interest 
^98 Ex-Interest 
<102 Cum-Interest 
^T 04 Ex-Interest 
<197 Cum -Interest 
?105 Cum-Interest

Balance 
Purchased' 
Purchased 
Sold 
Sold 
Purchased 
Sold

Numbers of 
Debentures 

2,000 
1,000 
1.000 
1,200 
200 
600 
400

3B.. Z Ltd. has opening balance of ?20,00,000 in its Machinery Account (WDV), 
Accumulated depreciation at the beginning was ? 12,00,000. There was an addition of 
Machinery of ^10,00,000 at the beginning of the year, while Machinery costing 00,000 
was sold at the end of the year. Accumulated depreciation on Machinery sold at the end of the 
year was ?2,62,500
Prepare a note on Fixed Assets forming part of the balance sheet of the company if the 
depreciation is charged for the year @ 15% on original cost. (5)

OR
4. Mr. Jinen had 10,000 equity shares of AP Ltd. on 1st April, 2017. The face value of the 

share is ?10 each but book value on 1st April, 2017 was ?15 per share.

On 1st May, 2017 he purchased another 2,000 equity shares in AP Ltd., at having market 
price of ?13 each.
On 1 June, 2017, he purchased additional 3,000 equity shares of the same company at a 
market price of ?5 higher than face value.
On 1st July, 2017 he sold 3,000 equity shares at ?25 per share.
On 1 October, 2017 the directors of AP Ltd. had declared and issued bonus shares at the 
rate of one share for every four shares held as on that date.
On 1 December, 2017 he purchased 2,000 equity shares of AP Ltd. when market price was 
?20.
On 1st January, 2018, he purchased 3000 right shares in AP Ltd at <18 per share.
On 1st February, 2018 he sold 2,500 equity shares for ?25 per share.
Market Price of shares on 31st March, 2018 was m per share.

Prepare Equity Shares A/c in Mr. Jinen’s books for the year ended 31st March, 2018 (15)
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6. (20)

xxxxxxxxxxxxxxxxxxxxx

6A. What do you mean by Ethics? Describe its features and scope.
B. Give disclosure of “Non-Current Investments” of a company as per Schedule III

(10)
(10)

OR
Write Short Notes on the following (Any 4)

1. Factors affecting Ethical Behaviour
2. Disclosure of Share Capital in Company Balance Sheet
3. Methods of Internal Reconstruction
4. Benefits of Buy Back
5. Accounting Standard 13
6. Contingent Liabilities

1. The assets are to be revalued as follows:
Building ^2,50,000
Plant & Machinery ?2,25,000
Furniture & Fixtures ^55,000
Stock ?80,000
Debtors ?70,000

2. Intangible and fictitious assets are to be written of completely.
3. The Preference Shares shall be converted into 7% Preference Share of ^50 each, number of 

shares being the same.
4. The Equity Shares shall be reduced to ?3 each.
5. The 5% Debentures shall be converted into equal number of 6% Debentures of ^75 each.
6. The Debenture holders also agreed to waive 50% of the accrued interest
7. Arrears of Preference Dividend to be cancelled.
8. The Creditors agreed to waive 30% of their claims and to accept Equity Shares for ?30,000 
in part settlement of their renewed claims.
Draft journal entries (without narration) and give an extract of Balance Sheet to show
Shareholders Funds. (15)



Total

5,00,000

___________________ _ Total | 13,10,000
Note: The Preference Dividend is in arrears for 3 years

4,00,000 
25,000 

2,00,000 
30,000 

1,55,000

Liabilities ______________
5000, 6% Preference Shares of 
?100 each fully paid up
40,000 Equity shares of ^10 each 
fully paid up
Capital Reserve
5% Debentures of ^100 each 
Accrued Interest on Debentures 
Creditors

Assets_________
Goodwill
Land & Building
Investments
Stock
P&LA/c
Preliminary expenses

5,00,000 
10,00,000 
2,00,000 
2,00,000 
7,00,000 

26,00,000

2,00,000 
10,00,000 
5,00,000 
4,00,000 
4,00,000 
1,00,000 

26,00,000

r 
80,000 
20,000 

2,15,000 
2,55,000

60,000 
90,000 
75,000 
12,500 
2,500 

4,00,000 
1,00,000 

13,10,000 

tlWCourtCided reC°nStrUCt tHe C°mPany f°r W“e f0110winS scheme was ^oved by

st March 2018

_____________________ Total________________
The scheme of Reconstruction as approved by the court was as under:

1. Each existing equity share will be written down from ?10 to fully paid up.
2. Each 10% Preference Share is to be written down from ^10 to 8 fully paid up. These 

Preference shares are to be converted into 12% Preference Shares of ^2 each and 
remaining into Equity shares of 6 fully paid up.

3. 10% Debenture holders agree to waive 20% of their claims.
4. Assets are revalued as follows:

Land & Building ?12,00,000.
Stock reduced by 20%

5. Creditors are settled as follows:
a. 30% immediate payment
b. 20% cancelled
c. 50% paid by issue of 11% debentures

6. All fictitious and Intangible assets are to be written off.
7. 10,000 Equity Shares of ?6 each were issued to public for cash, which were fully 

subscribed
You are required:
Prepare Capital Reduction A/c and show the extract of Asset forming part of balance sheet 
along with notes to accounts of Aarman Ltd after reconstruction. (15)

OR
5. The Following is the Balance Sheet of Godfrey Ltd.as on 31st March 2018

Assets ___________
Goodwill
Patents and Trade Marks 
Building 
Plant & Machinery 
Furniture 
Stock 
Debtors 
Cash at Bank 
Cash in hand 
Profit & Loss A/c 
Preliminary Expenses 
_____ _ Total

Paper/Subject Code: 23101 / Financial Accounting and Auditing VII Financial Accounting

5. The Following is the Balance Sheet of Aarman Ltd, as on 31
Liabilities _________
10% Preference Shares of
^lOeach
Equity shares of ?10 each 
10% Debentures 
Creditors
Other Liabilities
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1. (a) Select the most appropriate option and rewrite ‘‘db?;’

1) 

2B62D3962ACB32961EBE3DFA18E6E70C

f

• Direct wages
• None of these

Paper I Subject Code: 23107 / Financial Accounting and Auditing VIII - Cost Acco^

Please check whether you have got the right
1. All questions are compulsory. • >•' i ’$f
2. Figures to the right indicate full marks allotted to the ‘qiiqStipn^ <> /;
3. Working note wherever necessary shoujd. form part' of yojfr
4. Calculate figures up to two decimal points-.^her^er

9 ■ ''firil<cpntRnrA?,’Z:A'‘inv.-TAiriY. ' • . ■(>'-1

is the portion of total cost which .cqiJhoKbp;■•identified and dkecftp’the.; / . ’ ? 
production cost. 7 ‘ ’ ' ■ /

• Indirect cost ? \ - < Direct cost
• Fixed cost .<?>• .•. • Variable Cost ? *: . ' . <

2) Gold in Jewellery is the example pf ,>? :
. Basic Raw material.^:;-;, : ■ V';
• Semi finished goodsc?.;'^ goods. ■./??•

3) The method which doesn^t differentiate between, efficient and inefficient Worker is
_____

• Time Rate :■'/•; Piece Rate
• Rowan PIan^\c:/.f:A? Halsey Plan ' > / y

4) After receiving matejrial inspection note,, the-receiving official will prepare.
• MateFial%Cqpi^tip'n .. • Goods Received Note
• ReCeipt. of Material •' None of these

5) Salary ofworfemanager is a 
•-, $el ling overhead ■ « Office overheads
•>"-f?act0iy overheads • Prime cost

6) The statutory provision regarding deduction from payroll pertain to.
.<■ ^4 ,'-T^ r-. . • Professional Tax

PFdyi3^^nd7<;-? \ .All of the above

t ^one «f tfcse //
1 basis of 

i ■ W • Whites .g 

pr°fit and l°ss a/c 
Profit and Loss A/C

Pebiwd in Fmancia; Profit and Loss A/C
Profit and Loss A/C

Ob ’/■-'?¥>
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1. (b)

2.

1,20,000

•-

2,00,000
4,00,000

Factdiy Overheads: N f J

T
5,00,000
3,00,000
2,00,000 

24,00,000 
5,00,000

Material „ .
Direct Wages_______ _
AdministriativeOverheads.(fixed)

.' Sales

/Selling and,Dis trihiKtionbver heads:
-Fixtfv 
Variable- •

The management has decided to increase production capacity to 30,000 Units for the year 
°0lg,and it estimated ibat.-

4- There will be allround rise in all variable expenditure by 10%
( . ; There will be. increase of 20% in all fixed overheads

------- -------------- - "

- f . Prepare a staternent showing Total as well as Unit Cost and profit for 2017.

to®

Eixed< ■ jaaaa
■ y?able ....

■ < /;/ Variable _______________________ 1,80,000
; The Company has worked to-its maximum capacity of 20,000 Units during 2017. 

2018. and it estimated that:-
' i<j^<\Tl^re^ll bQ^JIrbund rise in all variable expenditure by 10%

' .2,':Tfier^>iir ^increase of 20% in all fixed overheads
-/ -■ •T' ■? ''no need *° change the selling price for the year 2018.

i ><

Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII- Cps^un|

10) is not included in the administrative cost. . .

• Added to financial Profit _.^<N r
• Deducted from financial loss
• Added to costing profit : ? ■-• •••
• Deducted from costing profit

12) Production manager is an example of-----  . . .. ; \
. Production cost Centre • ■ Personal .cost centre
• Impersonal cost Centre ‘ •; Service/cost;Centre. ? '<,.

State Whether the following statements are true or false (Any Ten)
1) Cost Accounting is used only. ih-Man^acturihg industty
2) Earning under Halsey and Rowan plan arc same. .. . .
3) Under Perpetual inventpiy control^ stopk is verified periodically.
4) Interest on capital isimputed/.cost;
5) FIFO method is usually suitable in case bf perishable material.
6) Power failure is an abriormal ldie time.
7) Drawing Office salaries is?aif item of Factory Overheads..
8) Goods received Note is prepared by Storekeeper.
9) Over absorption, of overheads.increases costing Profits.
10) Transfer to general reserve, is an item of Cost Accounts^
11) Bin Card is same as Stores Ledger.
12) Loss on Sale of Fixed assets is included in Cost for .calculating profit.

SAM Manufacturing company gives following particulars for the year 2017.
 Particulars



2.

2. (b) Calculate the earnings of a worker using Halsey and Rowan Plan based on the following 07 
information. .
Time allowed to complete the job 180 hours

3.

8 Per Unit Sold

144 hours 
? 20

allocate the labour cost of each job R, S and T:
Particulars

Sky 
Blue

aQO; A,-

T 
30% 
30%

4,625 
4,400 
5,950 

2,34,625
475

22,500 
5,500 

  7,50,000 _ 
Ih'Cbst Accounts,' Closing stock of Finished Goods is valued at Cost of Production. The 

. u . . .  . ' 3 was 41,125/-

?
5250 
7,50,000

.'d^Pjepare Cost Sheet for the year ended 31st March 2018 

'Particulars.

■ : Jobs. ■ ' 

S 
30% 

______________________
Overtime was done on Job .S at the. request of customers.

R__
40%, A 
50%,

Blue
. r 3201 

-50% r • W 
-■ < - .2%- 

8%,8% <
: .'101 .<■

As per Costing 
Records (T) 
1,58,750 
1,26,875________
20% of Prime Cost

5 Per Unit of 
production

Basic Wages
Dearness Allowance_____________________
Contribution to Employee State Insurance (On Bdsic Wages)
Contribution to Provident Found (On Basic Wa^sj.i?A-':,.Ar>-
Overtime (Hours)__________________ T ........ ■.

The normal working hours for the month are 400.; Overtime is paid at .double the total of 
normal wages and dearness allowance. Employer’s:and Employee’s Contribution to State 
Insurance and Provident Fund are at.equal rates. The Two. workers were employed on 
Job R, S and T in the following proportions: ________________

Worker

OF
£ > - ,v. <• -.-v , - ... v , ■ -.-z x _____________

- • A.'' >^felimjnary;.expenses writteqoff
-DiviflehO^Ved' ??-■'__________

■; • •!A A Jrit^^feceived..on:fikedMeposit
G WBO ^llihaand^istribution-OTH____________

^IdSihg.^cklofiHiiiished goods (1250 units) 
a WO WhgWiW)___________
OWo___ . _
; - '< 'ATA A Ifi Cost A.C,cO,UritS, Closing stvuK vi ruiioncu uuuu» is vaiucu ai v
!•.AAv?*' : 'Apfofil ds-per financial records for the year ended 31st March 2018

FwW

Paper / Subject Code: 23107 / Financial Accounting and Auditing VI If - Cost Accounting

Also prepare a statement showing estimated profit for 2018 taking irito.c.onsidefatioh the, . 
changes in2018.

0R ■' < >T T ■■?■■ ■ > ■ T?'- • ■ T W;'
(a) Calculate the earning of Sky and Blue From the following Particulars for a month and 08 ? 

allocate the labour cost of each job R, S and T: </ . - ‘
...............

Direct Material Consumed 
Direct Wages, .
Pactoiy .Overheads '
Administrative.Overheads

Time taken to cQtnpfete^ . •
Rate of Wages.-pj?r hdur..
Dearness alldw^ncp.s is ? 40 per,day of eight hours.

BAT Ltd., Commenced Business on 1st April 2017, Cost and Financial records are 15 
maintainedTor the year ended 31 s,‘March, 2018, From the following information:

.1. Prepare Cost Sheet for the year ended 31st March 2018 
, 20 prepare Reconciliatfon Statement for:the, above period.

As per Financial 
Records (^) 
_______ 1,58,750
______ 1,27,500 
_______ 61,250

1,60,000
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3- (a)

4.

S2

(^)
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Particulars
Opening Stock 
Purchases 
Closing Stock

50,000 
___ 45 
___ 30 

200 
20,000
__ 30
3,000

80,000 
__ 60 
__ 40 

250 
40,000
__ 30 
2,000

SI 
10,000 
___ 5 
__ 20 

100 
4,000 
__ 10 
2,000

10
50

6,000
10 

1,000

Materials 
17,000 

2,96,000 
! 3,000

' SA?/ 3

3W®3 S S-rV

Materials z\

33- %000 3 
.7,000

GUM Ltd. has Two Service departments SI
and S2. The following details; are,extracted in respect of

10,000 
12,000 
9,000 
1,200

12,000 
6,000

24,000 
7,800

- ■’ ; <<

OR
Tomco Ltd. Manufactures a special product called “A 
information:___________________
Annual Demand_______________
Cost per unit____________ _____
Other holding cost______________
Pilferage while holding inventory 
Order Processing cost for each order 
Inspection cost per order_________
Follow up cost of each order______

Calculate:- ;5, ,
i) Economic order quantity (use formiila-methbd)
ii) Total ordering and carrying cos.tit-EO(J'level' ?

Materials B ?
13,000 : ’~T 14,000

... i.,76,opo:.
'-0; 10,000 ?<>• z

GUM Ltd. has three.-productioh^-pep^rtrfientsX-, Y, Z;and Two Service departments SI

indirect expenses, incurred for the month,ended March, 2018
; : / ? ^ /Particulars 

Reht.an'djates ’
Bfectric,Power: v ; ,

:T)epreciation . -
■4; f■ -•?

’ 4.../ Following forther details.are .colfocted/or distribution of the above Costs: 
Particulars <441 ' '? ~ Departments

X Y Z SI 
' • ’ 6o,OOO

___ 40 
___ 20

150 
30,000 
___ 20

4,000

...........

MB 
*,UUU 5,UUU 2,1

J . 2 7': '■ 2 Prepare statement showing Primary Distribution of Overheads.
OR

3.-
<536412.

Paper / Subject Code: 23107 / Financial Accounting and Auditing VI11 -

,-3x>, :..:33-:-'3'^.;-f^-:

2,Q0DUmts ■ 4
j?20 ' 

: 15%

”ZZ3 ;
^':3^-‘..73>-i'.?--:3<3il;3:y2:;^

- ' 31: ■■ C-

Total ordering and carrying cos,titEOp;level
<’ . ‘ ' 4 - ’ ■•'y' •/

3. (b) From the following information calculate' tyteterml-Tui^^
number of Days. You are required to .consider 3 65 days in a.year. ....
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5. (a) From the following data of Textile factory machine room, compute an hourly Machine 08

07

Page 5 of 13
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15,000 kg 
T 44
T 4 per kg.
r 4 per kg.

4,68,000 
1,80,000

9,900
96,000 

1,17,840 
2,16,900

. -

” 1 J- -

: by ­

Repairs to machine__________________
Number of machines (each of same type) - 50 

y. yy y. y.yy' .
wy- Wyyybyb ■. - -?.;y
5. : (b) ;;The;Stahdard time fixed for a job is 40 hours and the wage rate is 40 per hour. The 

’ ’wgi^er.conlpiQted the job in 32 hours. Calculate the wages and effective rate of
earnings per-hour as per Halsey Premium plan and Rowan Premium plan.

or

Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII- Cost Accouhtirigz 

b^vy
b yW'
y ..yy
- '■ '■

Rate assuming that the machine room will work on 90% capacity throughout the year & 
that a breakdown of 10% is reasonable. There are three days holiday at Deepawali, 2 days 
at holi & 2 days at Christmas exclusive of Sundays. The factory works 7 hours a day & 
5 hours on Saturday.
Expenses per annum
gbwer ______
Salaries to Foreman
Lubricating oil______
■Light ■ , . .

.ya

, Depreciation .̂
• -za

8,00,000_______ _
2,00,000 

r 2,00,000 
10 years ; • .

30,000
2,000 per month

60,000 per quarter
^ 6,000 per annum_____

10,000 per annum
@ r 5 per 10 units
2,000 per annum_______________

The machine occupies 1/4 th of the total area of the shop. The supervisor is expected to 
devote 1/6 of his time for supervising the machine.

4. (b) A Manufacturer supplies you the following information:
Consumption of Raw Material Half Yearly
Cost of placing an order
Cost of Raw Material
Follow up cost of each order

Carrying cost is 8% of average inventory
Your are required to ascertain the Economic Order Quantity using Formula Method 

and also state the number of orders to be placed in the year.

4. (a) Calculate the Machine Hour Rate from the following in formation:
Cost of Machine
Cost of Installation
Scrap value
Effective life of the machine_________
Rent and rates for a quarter for the shop
General lighting Expenses___________
Shop Supervisor’s Salary
Insurance premium for a Machine
Estimated repairs
Power 2 units per hour
Estimated working hours
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6. 20
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10
10
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■'Q\ ■ 'SSi" f^0‘

Paper / Subject Code: 23107 / Financial Accounting and Auditing VIII- Co^ Accounting<
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£$$$$% 
■yfoy/yy -c;

-' •/; .5

^?--y
, , - .-}•? -■

—. 2, ,. , v

•• .-<$• <r

' '<•/
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..e

y > y/f/yy- 
^nMy?/:'/

Transactions _______________
Opening Stock 200 Tons 460 per Ton 
Issued 140 Tons___________________
Purchased 350 Tons @ 450 per Ton 
Issued 80 Tons__________________y~
Issued 210 Tons________________ /y y ' \
Condemned due to deterioration all quantity
Purchased 400 Tons @ 470 per Tpn ■. ' , - -----„- ■ / ‘,
Issued 200 Tons__________ ■ ,/</. -■z ■-'
Purchased 100 Tons @ 480 petyTon ~'-y 's'sV/ ? ' 
Issued 150 Tons_______ ~ •?. S-y, • < y , yx
Excess found is stock 5.0-t6ns diie to wrong weighing duijing the month/.

The following are the receipts and issues of coal in factory during March .20 1 '8z 

Date 
01-Mar 
02-Mar 
06-Mar 
08-Mar 
09-Mar 
16-Mar 
20-Mar 
24-Mar 
27-Mar 
29-Mar 
31-Mar_____________________________________ _____
The Maximum Level fixed is 4pO<Tohs, - the"Minimum Level . .75 Tons and the 

Reordering level is 100 Tons. \ j z
Prepare Store Ledger Account under FIFO:Mcthod and Weighted. Average Method.

6. (a) Explain the classification of Cost on the basis of functions.
6. (b) What is meant by Labour Turnover. Explain it’s causes.

/'/ /'■ y or ■■ ■/ ' a"

Write short notes on .any four of the following:- ' , -
1. Objectives of Cost' Accounting
2. Advantages of Material. Control '
3. Tabular method of.EOQ.
4. Selling Overheads x
5. <^nt/EasIc^6dd§;Plan: .
6. Purpose of Reconciliation

n A.■' ' - - -------3..........■■ ' ■■■- /fo.' 5

p'..;;y.yyyy' 

yCW-'n-’Af;''/
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TURNOVER
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(3 Hours)

N.B.: (1) All questions are compulsory. 
( 
(5)

• Whole of India
• India and Pakistan
• Whole of Maharashtra

Paper / Subject Code: 23115 / Direct & Indirect Taxation

-
(2) Figures to the right indicate maximum
.................................................................

geBSSgSg!'

(3) The Legal status .
• an individual

(4) Personal 24cafat gdldinangalsutra is assef. •

(5) ;

016 basis of his•  
Status • Marital Status

-°4’1981 - 01-04-1971

SOD in respect of medical insurance premium is allowed

®w



(10)

2

t0 ^e extent of 55%. works in a private company. 

i|f^^^^^^f^articulars of his income for the previous year ended on 
per month.

47BC573C4436FD8559C6Afi4FF>;RiA7<M

IS gs

^>'^!^^^^^lowance ? 10’000 Per month.

10) ?6-000 per month.] 

WWIW 53518- wsw s«a®F

&

•<<
jV;

TURN OVER p%
> u*v

><-j

Paper / Subject Code: 23115/Directs Indirect Taxation Pape^^f

.jhh
(9) Share of profit received by a partner of partnership»s^^^^ 

. F„uy„np, • Fullytaxable

Uncommuted pension received by a govemrrtept. joOSw
(11) The deduction under Section 80E 
of.
• ?25,000 •

(12) Award received from the ^veffij^eri^is-
• Taxable .JWStSwO'fW"

1. (B) Re-write following :
(1) Ex-gratia
(2) When a property,is'Qccjujii^iSyJ&e owner himself.thafproperty is cal led let-out 

house
(3) Expenses)5xi'local fesfiyai navaratritpujaiSailbwable business expenditure.
(4) PreviQU^^:p3rtb'e<moreth^
(5) Th^rt^tot^i^hp^
(6) Salary re^^ed by a Member of Parliament is taxable under the head Income

(^WwWs^w?W^#^s^’expenses-
a resident-

^ndpHh^^d;jhcome from house property.
is taxable under the head income from

,4®Wtes“ 1. sy4 under the head income from other sources.

Jl^^Ktf“,ns"ra”cepoucyis“'
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month.

TURNOVER
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Paper / Subject Code: 231151 Direct & Indirect Taxation Papei^^^s|5§^^^^

« .jn»ia
(Amount actually spent on travelling ^38,000)<§^^^^

(5) He was provided with the accommodation
ofwhich was 735,000.

(6) Bonus declared by employer during the year Was 715,M ’/"Z ■ ’m frofes». „ - . v 5gg><■ ■
(8) Employee's contribution to Provident Fund:748;000.'--

He also received the following :
(9) Interest on fixed deposits

(10) Interest on fixed deposits
(.1, Dividend
(12) Gift from his sister

During the year, he paid
Compute his taxable incon^Mxh^

2. Mr. Kedar was a Mahara^^§^te;Goyeifi& 30th November, (15)
2017. Thereafter,

He has provideddfefofl^n'^ ended on 31s* March,
2018-

(A) From Maharashtra State Government:
^Basi^

debentures t6o,ooo.
Indian Companies r32.000.

on 8% Taxable RBI Bonds 720,000.
^50,000 in his PPF account and paid ^22,000 towards 

for himself and his spouse.
income for the Assessment Year 2018-19.

«tar
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9,13,000

Total Total 41,77,556

7,00,000
5,55,555

10,000
12,000

41,77,556

_____Payments_______
By Office Expenses______
By Stamp paper & court fees 
BySalaiy to staff
By Office Rent
By Conveyance
By Drawings
By Balance c/d

_____Particulars
To Printing & Stationery 
To General expenses 
To Interest on capital 
To GST Penalty 
To Income Tax 
To Office Rent 
To Depreciation 
To Salaries 
ToAdvertising 
To Net Profit

8,00,000
3,00,000

15,00,000
4,00,000
1,00,000 
6,00,000 
4,77,556

>•
r:
i

!>•
!;■

§
turnover;-?

I£

WiQO^Qxnpany'

J*’-

Paper I Subject Code: 23115 / Direct & Indirect Taxation Pape^p^ 

JIB 
Jlsil

1VJL1. oaiiguaiuccua ^iuviuvj *»*v. o-------  ■ -a

31s' March, 2018. You are required to compute his
Y„ 2018-1S :

Profit and Loss A/c for the year

20,000
25,000

47BC573C4436FD8559C6A54FF5R1A7O4

Additional ■ J . J-
Salaries dependent

brother, wh^e(s&rt ^s6$nj^hysiia) dl§ai?fli^;(Sl^).

The of Advocate Happy Salve for I
th.

J'
J|f W.000

4^0 
Jlsil /Ms®!

3. Mr. Sanghameetra provides the following information^W^^O^<§J 

...........................

c' W|JI
55,000,
23,0QCij ■15yh;teriistonSaviti» Batik-Vc ’J?

4 Wk IJjJJ2'®W' J^^tiired'i&uied^lie^ ^i5?6'0^

the yeap?n<ieU:3^ March, 20^ >

,••>'■ .«.-,• aS> A •• (,-:•.•?.> .It ’ <..■ -<a

Jy <£■



5

TURNOVER
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°i-°7-2015
WWM’ WW 1004-2017 

15-05.2017 
28.06.2017 
01.09.2017 
01.02.2018

Paper / Subject Code: 231151 Direct & indirect Taxatioi

Compute his Gross Total Income for theAsstesment Year 201849 assumingthat he is •

(2) 
IS.No?

(1)
(2)
(3)
(4)
(5)
(6)
(7)

. . --- --------------------------------------------------
;^eterfnirie;hiSifesldehtial status for the Assessment Year 2018-19.

BW
SfcW tor

«?«a
Additional Informations: j | A

(1) Drawings includes ^99,000 towards pension$rifl/(i^
?92.000 for medical treatment expenditure 
to the extent of 51%.

You are required to compute his net taxable

4. Mr. Aniket furnishes you the following ./
the previous year ended on 31*March,' . , ; :
Compute his Gross Total Income for the Assessment Year 201849 assuming.that he is :

(1) Resident and Ordinarily Reside^'^ \ \ •' 4
Resident but not Ordinarii^^gri^^^^

.CtniCto .-'I ,
Income from busifless^ • 2,00,000

2,20,000
2,40,000
1,20,000
1,40,000
1,60,000
1,80,000
2,60,000

_]............................. ........ _ ............_
Interest on Debej^

Rent from prtfpert}^^^ ;
Interest onMnk' AccpuntsW^ y
Incomgt^ '_______
Incofte-Tr^ 
S.siar^eame^

India during

4. countries for the purpose of his (15)
out of India :________

Date of Arrival 
in India 

01.03.2017 
28.04.2017 
01.06.2017 
15.07.2017 
17.09.2017 
22.02.2018
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(

5.
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I
I

4

28lh March,

ioration (REC)

TURNOVER

3,70,000_________

8,40,000

March’ 2018 for ’‘1.50,00,000.
of *3,00,000 on the sale transaction.

f Btopal fo, ^.OO.OOO

MW
OifO

Paper / Subject Code: 23115 / Direct & Indirect Taxation Pape^^S 

JO
6

Mr. Mahesh is the owner of two houses. He provides^W^^^fe<t&| 

two houses for the year ended on 31st March,
(a) First house is let-out with municipal valua|ib,^^MW^^^ 

*30,000 p.m. municipal tax paid 
housing loan paid *50,000 and house

(b) Second house is self occupied 
municipal tax paid * 10,000 and

(c) He also received following incqrh^Qu^hgyea^. 
Interest on deposit with comp^£^\^

Dividend from co-opqi^€$^^
(d) He also deposited

You are required to calc^^ira$$^

Mr. Dinesh provides^^pB^lng^^^^^'^^t^aa^et^-By him during the 
previous year end^g.^'^^frs2^r^a'^^i^-to coinjSte his Income from 
Capital Gains

Aresid^aO^rt^^a^^^p^^ecember, 1998 at a cost 
of * 18,00,on 1st April, 2001 was 

!“«WWW'Ml°":
Amount^)________

2-°Q'oo° 
y 3’27-ooq

* *- Ete“ **
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6.

TURNOVER
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(10)
(10)

(20)

Cost Inflation Index are as follows : 
Financial Year 

2001 - 2002 
2003 - 2004 
2009 - 2010 
2014 - 2015 
2017 - 2018

6. (a) Explain the term Income
6. (b) Explain the deductions.. -... ..^»»8*sy 

PSI?(iii) List of

>o««rWWW * 

itifir
MW

Paper / Subject Code: 23115 / Direct & Indirect Taxation o
JWKWSgSB 

. ; * -



N.B:
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IMF
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• 2,000
• 3,000

• IEC
■ • Blanket permit

to have minimum export performance of US$

1. a)

Paper / Subject Code: 23116 / Export Marketing Paper -1
^1 filing

2 [3 Hours ] ( Total Marks: 100 J
Please check whether you have got the right questio*,^

1. All questions are compulsory.
2. Figures to the right indicate Ml marks. WWtSW

Select the most appropriate answer from the options.
1) Export marketing is important for countries 

• tactful inturn.ticn.l tel.tie.s '
• Speed uffetf sft®|
• Earning Foreign Exchange
• All of the above , . /‘'V

Risk in export marketing due to civiTdisturbanc.es is'khovrtfafr 
• Commercial Risk . .<-■ Political .Risfc:.
• Legal Risk ; k \ ' Cargo Risk - \' •/ ;-?W’

contributes a major, share of foreign exchange in the; XptaHndian
service exports. •.;<\ '

• Business Services . Software Services\
• Transportation. Services.- . • None of the above

raises the^ri‘£#s?’pfi tn ported; goods !herebydis(jOurag.iijg imports.
• Non4arif£ba^^ Tariff Barfiers^
• Internatibn'^for^ms . -• ' None of the above

GATT was repTac.eS by - ' in. J995- .
• EU ; . '■ WTO

6) ’' ...

••
A@puitiire;' ■’ :<. V

7) ' . :-?yIEIS: fs" eXpected‘ To -.support .y ,:; sector with special emphasis on
the ease 9f doing business.

• Manufacturing
' <' • - ’ Agriculture

 ,nd

»$^!^W“^l*ovldes benefits for---
capital goods

devel°Pment to states 
p^>^^^f<ind of excise duty

of raw materials in bulk

pagei°f6WWF

civiTdisturbanc.es
repTac.eS


11)

12)

L-S'.'-’

Page 2 of 6

735486081A7422E85FB29915ADC7D335

10)
U)
12)

1, b) State whether the following statements
1)
2)
3)
4)
5)
6)
7)
8)
9)

2. Answer any two of the; following ; -
a) What is export marketing? Discuss the features of export marketing.
b) Explain the factors/mfluencing export marketing.
c) Explain briefly region wise Indies export ijiice 2015.

3. Answer any rivo of-the following :
a) Distinguish between Tari ff and Kon-tariffCarriers.
b) Explain in brief Various WTO agreements.
c) Discuss the need for conducting overseas market research.

4. Answer any two of the following :
. ■ .• \ ’ . *): pn Indians foreign trade, policy 2015-20.

777.77- b) , ?^^^aimpeemed:Exports. :
7 ? > 7. What given to EOUs.

‘ ?k.'Z<;7?-7. aZZZZ
5. . Answer any. two of the fcEowing :

■ -.7 & '^JMss lRi^C s^megiven to exporters.
W7W > 7-- ^kl’lahi the,assistance provided by ITPO to Indian exporters.
-7 / 7 Briefly expiain;the Duty drawback scheme.

'77f? '■ ‘; r77;7 7 77

Paper I Subject Code: 23116 / Export Marketing Paper -I 

..77777
enjoys the status of a deemed university. y77

’ IIFT " ITPO • 77
• FIEO 11 . . • 7/-.:7/X^:-77

FICCI was established on the advice of-------- m 1927 in India: . . ; ,
. Pandit Jawaharlal Nehru • Mahatma Gandhi. ., ..77X7
. Mr. J. R. D. Tata • I.okmanya Tilak . :

- ■; are True or False (Any Ten):
Export marketing helps in spreading risk of busing 77777777i 
Export marketing is influenced by regionaleconomic groupings ofthe^rorM; 
India is one of the largest exporters of gepis and jevvellery sector.
WTO agreements have no impact on Export trade of India. ■ • ? j
India is not a member of SAARC..
Global .market research does not help-exporters. .
MEIS & SEIS are associated vyith lndia?’s'fofeign.trade.policy of 2015-20?
Onions are included underthe canalised list of exports. s 7^
AEZ is a specific geographic region reserved to establish agriculture based 
processing industries.
MDA supplies imported, raw materials to al I. exporters v
IIP acts as a publicity wing of the Indian-government.
IGST is collected only by the state governments
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I

a)
b)
c)
d)
e) 
D

<a < /"</■■■■

-"J- ..'t

j ;V. ' r
: MWOWM- ■

boBOF
kk-k :W

■ ww>
■••. ■ A? ;.-. ,. ■>

6. Write short notes of the following (Any Four):
Problems of India’s export sector.
Types of Tariff barriers.
EHTPs
Commodity Boards • • . • ■..:
Importance of export marketing from the view point of a nation. .... ■ ? ■ ' ;;?i;' ■
Negative list of exports. .'J 5*

. ‘ . ■ . ■ •• ' ■ ■ • ■■■

Paper I Subject Code: 23116 / Export Marketing Paper -1 a-
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Paper I Sutyect Code: 23114 / Commerce V

' Cjjl _• ; y ^.7,.''. •• ■■ ■■■'• .- ;• <■•• -W’ .... . -• vX1

Please check whether you have got the right question paper:/ W’
1. All questions are compulsory. • ?'•.
2. Figures to the right indicate full marks. - •?’ 7 •' v

1. (A) Select the most appropriate answer from the options given beloW^Any/Tfen) </; (10) 'y‘^^ 
1) The ------------------ concept rests on four pillars: target market, customer needs, / '

integrated marketing and profitability. ; ■ .
a) Product b) Production . >,.?/>.>?. C-/;'?:/:''
c) Marketing d) Holistic > . i

2) With the help of marketers can analyze customer behavior. ■/ /•//’'
a) Marketing Research b) Enterprise .
c) Production concept d) None of these '

3) is one ofthq patterns of target.market selection.
a) Full market coverage. / V/ ./' .. bj ^alf market coverage
c) Middle market coverage ■' .?<;?/ r d) All of these . / 

isan-eje^eptOf-theMar^^^
a) Profit b) Price
c) Investment .j d)PIan

5) is the part of the product that carries information about the product and 
the sellen ?; ;' ; \ .
a) Channels -b) Profit
c) Label.- d) Decision

6) • ' when registered becomes a trademark.
a) Brand . . # • b) Product

^^^Patept :d)Copyright
.7.y In ■ . : ' distribution:.system,<fwo or more firms at the same level come together

... ■’;■./>:.. a) Hdrizdrital:dJ \ b) Multi-Channel
P) Multi-Level ' d) None of these

< - 8). ■' - . - • ^ includes tools like discounts, coupons, free samples etc. used to
. /■- \-/. <-siunu!atedemand? : C ' > -
■; . ■ . b) Sales Promotion

■ cXSupply • d)Publicity
-is one of important steps in personal selling.

:lY/?Y;\/a):BIutTihg ' b) Prospecting
d) Mentoring

-- Pagelof6
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10) Ethics is a branch of   which is concerned with human conduct •; /.J
a) Physiology b)Psychology
c) Philosophy d) Sociology .

1. marketing makes use of electronic devicessuch as computer?

TBwJ-----
c) Rural d) Traditipnal ~ '.^7^

j2) is/are main factors contributing to the success of brands in India?:
a) Unique Selling Proposition b) Innovation
c) Consistency 4)f.AIlbf these ?

(B) State whether the following statements arc true dr false: (Any Ten) ./■•j
1) Co-ordinating is a very important function of Marketing. , •
2) Marketing Research is increasing the gap between the producers and consumers. •
3) Data warehousing is one of the techn iques in Customer Relationship Management; .
4) Brands should be repositioned frequently.
5) Odd pricing is also called psychological pricing. ;
6) Label acts as a silent salesman. . ■ .
7) Direct channel of distribution involves interm ediaries to sell goods to final consumers.
8) Packaging helps in promotion of goods.
9) Sales Planning involves settingjsales targets..
10) The consumer organizations create awareness about consumer rights.
11) Green Marketing contributes to the betterment of public health.
12) Over spending on promotion can lead to failure of brand.

2. Answer ANY TWO of the following:
a) How strategic marketing differs from traditional marketing? Explain.
b) Discuss the various components of Marketing Information System.
c) Explain in detail any two factors influencing consumer behaviour.

3. Answer ANY TWO of the following:
.a) Describe the management of different stages of Product Life Cycle.
b) • What is.Packaging? .Explainthe essentials of a good packaging.
c) Explain .thp-various factors affecting pricing. .

.< 4. Answer ANY TWO of the following:
*9 kxfdain tlie? different types of traditional Channels of Distribution.
b) What is Promotion? Explain the important elements of Promotion-mix?
c) Discuss the components of Sales Management.

53718
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Write short notes on ANY FOUR of the following:
a) Importance of Marketing.
b) Bases of Market segmentation.
c) Strategies of product positioning.
d) Integrated Marketing Communication.
e) Unethical practices in Marketing.
f) Factors contributing to success of a brand

5. Answer ANY TWO of the following: ' (15) 7X
a) Explain the competitive strategies for Market Leaders and MarketFollowers. > ‘ A \
b) What are the features of Indian Rural Market? /
c) Elaborate various careers in marketing in 2l?t century.



[Time: 2!4 Hours] [Marks:75]

N.B:

15

15

15

15

5

ii)

iii)

iv)
b)

v)

Turn Over
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Please check whether you have got the right question paper.
1. All questions are compulsory.
2. Figures to the right indicate full marks.

b) 
d)

b) 
d)

b) 
d)

Values
All of these

Sales Promotion 
Market Segmentation

Brand Equity
Brand Character

2. Answer any two of the following.
a) Define Marketing Information System. Explain briefly the essentials of a good MIS.
b) Describe the steps involved in consumer buying decision process.
c) What is Market Segmentation? Explain the bases of Market Segmentation.

3. Answer any two of the following:
a) Discuss the importance of Marketing Mix.
b) What is Branding? Describe the components of a Brand.
c) Explain the term Pricing. What are the various methods of Pricing.

1. Answer any two of the following:
a) Define Marketing. Explain the features of Marketing.
b) What is Customer Relationship Management? Explain techniques of CRM.
c) What are the challenges before Marketing Manager in changing business environment.

Advertising
d) . Horizontal Marketing System.

5- (A) 
i)

Paper / Subject Code: 23014 / Commerce : Paper V -M.H.R.M.(Marketing).

Q.P. Code : 22741

Fill in the blanks by choosing the appropriate option given below.
Strategic marketing managers make decisions.
a) Proactive b) Reactive
c) Adhoc d) None of the above

Business Ethics deals with that help in good conduct of business.
a) Principles
c) Philosophies
*is a component of Logistics.
a) Inventory Management
c) Product Decisions

 is a form of Direct Marketing. 
a) Telemarketing
c) Branding

 is an incremental value of a brand. 
a) Brand Extension
c) Brand Positioning

4. Answer any two of the following:
a) What is the meaning of Physical Distribution. Explain the factors affecting the selection of 

distribution channels.
b) What is Sales Promotion? Explain the various techniques of Sales Promotion at consumer 

level.
c) What is Integrated Marketing Communication? Explain the components of IMC in brief.
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1) a)
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Turn Over' ;
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2)
3)
4)
5)

ii)
iii)
iv)
v)

Personal factors 
Primary data 
Product width 
Banner

b)
c)
d)
e)

'5

5 
products ol

V

5!
According to Production Concept customers will prefer products that offer high 
quality & performance.
Social Marketing aims at promoting welfare of few sections of the society.
Positioning creates value to the customers.
Skimming Pricing is a long term pricing strategy.
The Direct channels are more common in Industrial Products.

I

Q.P. Code:

(C) Match the following: 
Event Marketing

(B) State whether the following statements are True or False, 
i)

Number of different 
company
Point of Purchase
Sponsored programme 
Survey method
Age & lifecycle
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Q.2 15

Q.3 15
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[Time: 2:30 Hours]

Please check whether you have got the', right- question paper.
1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary'.

?: ■■■• 7 .■

a) Define the concept of public finance and explain dissimilarities between.public and private
finances. . : /

b) Diagrammatically explain the Principle of Maximum Social Advantage.
c) Explain redistributive and anti-inflationary tax policy of.the government.

Attempt any two of the following:
a) Discuss the various sources of public revenue.
b) Explain the merits and demerits of direct taxes.
c) Explain the concept of impact, incidence and shifting of taxation with examples.

Attempt any two of the following:
a) Explainthe organized sector of Indian Money Market.
b) ' .Write., a note on the role of capital market in economic development.
c) .. Discuss the reforms taken in the Indian Capital Market since 1991 with special reference to 

secondary .market.
■' > ■"’ :: ■

- . (A) State with reasons, whether the following statements are true or false (any four)
; ,; ji) - Jhe primary objective of public finance is to maximize profit.

were strong supporters of government intervention in the economy.

./•• ..-•3y):\.^eri the:b.urden/ofa-,tax.is-borne by final consumers, it is called backward shifting of a tax.
^^.?v). ' .; Urider deyeiopment-of a*country is one of the causes of increase in public expenditure.

;; vi) r Primary deficit indicates the actual position of the government finances.
■ yn) ‘Chit fonds are part organized Indian Money Market.
'-ypOJdvest^eht in;m.uhial funds is a major option in the Indian Capital Market.

[ Marks:75]

...

Attempt any two of the following:
a) Discuss the causes of increase in public expenditure.
b) Define public budget and explain types of budget.
c) What is fiscal federalism? What are the key issues of fiscal federalism?

Paper / Subject Code: 23013 / Business Economics.: Paper V.

C^<?:
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B)

ii)

b) Betterment levy

vii) 

c) Productive debt d) Voluntary debt

d)2 years
x)

Page 2 of 5
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Choose the correct answer and rewrite the statement (any seven)

c) Public expenditure

I

£

£
E 
ik

d) none of the above p

£

t'B
•b’ 
$ 
i.-

Paper / Subject Code: 23013 / Business Economics.: Paper V.

A AIKsBWl

__ JI

i)Z Which ofthe following is not a fiscal tool?
a) Taxation b) Repo rate c) Public expenditure d) Public debt 

According to the “Principle of Maximum Social Advantage” the government has only  
budget. - ’ ' , ;

a) Surplus b) Deficit c) Balanced d).unbalanced
iii) The term functional finance was coined by .'-

a) A.P. lerner b) J.M. Keynes c) David Ricardo d) Adam Smith
iv) Which ofthe following is not a source of.non-tax revenue to the government.

a) Fee b) Betterment levy c) GST d) Grants ,
v) GST is an example of .

a) Direct tax b)Indirect tax c) Both a and :b d) None of the above
vi) If elasticity of supply is equal to. elasticity of demand .the incidence of tax will be 

a) More on buyer b) More on seller
c) equal on both buyer and seller d) None of the above

is not an exaipple of unproductive expenditure of the government.
a) Expenditure on Defence b) Expenditure on Law and Order
c) Expenditure on interest payment d) Expenditure on agricultural development

viii) Loans for which no promise is made by the government regarding the exact date of maturity is 

a) Irredeemable debt b) Redeemable debt
ix) In India Finance Commission is appointed every 

a> 5 years b) 4 years c) 3 years 
, are a part of organized money market.

a) Finance brokers b) Loan Companies c) Commercial Bank d) Indigenous 
Bankers

xi) Which of the following is not a function of Capital Market.
a) Promoting industrial development b) Mobilisation of savings

■;7Development of.commercial banks d) None of the above

xii) Investor Production fund was set up under SEBI Act for 
< .a), Investors education b) Investors complaints c)bothaandb

. . . • ■ ■. ■ ■' • . • a .•

•.? • •. '.’ '•/ 

. . : ■ . •. - • 

C'-'V-rA /■ < ---------------
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• Cost
• AU the above

!,. (A) 

"—-““'itgttiaf#
’ Factory overheads ^XF X^Lateur
_cost are ascerta.ned after^Wb^n inched. W

I SunT ?
3) The supplier will deliversX^oods.alimgA'ltM^'4/^/ ?-'

. Purchase order <F/- ' F< Bincard . ■ X^'

. Dispatch advice ;< All the above-:XXX
fronTsto es d°CUnXt wHich js “^^X authbrizp and/record. ffie^sue of material

. Goodsjec^ived note' \ . . /Material Requisition
• Sale^ip^Qiee’■XX -*? Payment slip;> •••

--------- jyfctepris one dXthe’mbst- popular time-clock attendance system. 
•49®^? ■

mostly in the unorganized

feMlis' Act%9^c :X.. • The Minimum Wages Act
x' * 948

• None of above

XIXXfXZ War«h°use J ■ ... X./ * Bad debts
<XXX“^XX°mnl'is?io11 Paia X-X-' * None of above 

not exoltided in' preparation of cost sheet.
• Depreciation on Factory Building
• Transfer to reserve

20% on sales is 

• ”«»
•' *»*•

■IF
»«»F
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1,00,000 50,000
5
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50,000
10,000

6 years
3000

10

.%50;000 20,000
15

_____25
10,000 

1,20,000 
5

ft) 
wiv/WeF

: 0< ' Total Wages (5)
_____ 50

25,000 
3,20,000 

7

_____ 50
25,000 

2,00,000 
6

(Sq. 140~"

50,000

12,500 
'17,500 
21,000 
20,000
16,200 
30,000 

8,000 
9,000

12,000

250 
40,000 

: 4,00,000 | .3,60,000

No. of Workers

. ' ! Value of Plant ’|

■ <WxW Valu/ofySt.ock - //

Particulars' w ■■ •; - o ' -< .-‘-'Producfion-pepiartments 
■" ■?"■ • • T ■ ■ ■ ■ ■■ '

X ; ■ W 1 J- ; / p < I ' / 'Q , ■ 1 R

1-20 110 '

Service
Dept.

T 
40~90

XX XX 
M 
W 

08 O' fc
XX 
W 
XX XX xx 
W

'XX? -VafeofStockO '(XX
: ' l^WofMachines i / 60 Jo---- ~

X-WX > XXX OR
X X ■ a'e the-ecn^prehensive Machine Hour Rate from the following

WXXWXXX/fnsfellation charges/
X.XXXXX.XX'^Ofi^^Aachinery

•- / :vf\-'w "

Rent and Taxes________
Repairs and Maintenance
Depreciation
Supervision
Motive power
Labour welfare expenses_____
Insurance ____________ __ ________
Lighting , ■ . _
Employer\-Liabjlityof  .Employees ’ Insurance______ ___j_______xx/exxx

The following jnfonnhtibnis^also available inrCspect ofthe five departments:

..... ........

,X' --
. 1) The term cost and expenses are synonyms but are not .identical;
2) Depreciation is an example of fixed cost. , c ■ • WW'
3) Costing means the process of ascertainment of cost , ■ . j; wn

Research cost is the cost of searching new or improved product. ; xf 
The cost of raw material represents a high proportion of the fotaixcost of' 
production. 2 ..N--;
The supplier will deliver the goods along with purchase.order. ? ;WNw?.;v,- 
Time keeping is important for computatfomof^l^'du^tp;thy

8) ESI fond is maintained by SEBL ,<• -N • '/" . ■'W-' W./WW/Ng'-
9) Interest paid is included in preparatipnbf cpsf sheet. ; ;■ . 5^?^
10) Codification helps in easy identification  ̂different items of overheads^

x xxx < ' ■ '■ X . w - w X^ fw-'N'X
Omkar Ltd. has five departments. P; Q, Rvand-S' are production departments aMT^jj 
a service department. The actual cost-for .the:peripd.are as follows: • :

Paper / Subject uoae: zjuud / rinanciai Muuuunuiiy ex

State Whether the following statements are true or false (Any Seyep).
. 1) The term cost and expenses are synonyms but are not .identical.■j'Wr
2) Depreciation is an example of fixed cost. ... . > ■ ' x . ■ S
3) Costing means the process of ascertainment of cost , . . ” " • >*<v-
4) Research cost is the cost of searching new or improved product,
5)

6)
7)
1
9)
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Estimated repairs and maintenance 
charges throughout the working life of 
machine
Electric power consumed
Lubricant oil
Consumable store
Wages of machine operator
Working Hours per Day
Insurance charges
Supervision

Materials-handling charges

papt?1 • —

r AT <

r 15 n?rfks.- A ..--'A AAAAA A;

I f-

■f'(b) From the following details, calculate:
1. J
2. No. of orders to be placed, /i 

( 
Cost of placing order 
(

' Cost of material
Storage and carrying cost per kg 10% of inventory A

From the books of Deepest! Enterprises, the following details have been extracted 15 
fi-w flip war A.ndpd 'MSA Mnrn.h

.37,500 
22,500 
2,20,000 
52,500 
2,40,000 
31,350 
11,500 
1,80,000 
3,60,000 
22,000 
51,300 
27,000 
25,400 
55,000 
38,000 
39,000 
46,250 
31,250 
19,950 
56,500 
38,475 
25,000
27,550

goods at the end 500 units to be valued at cost of productton.

. ................. 9&Auditin9:P—

rSS.; : ,MpsP'
-------- — rffiiSKW
No. of orders to be placed. ,< / ' • ’ A’
Consumption of material pa . . 1350kg
Cost of placing order -ApApA7 7 ; . -A? 26/5 & A A A; A 
Cost of inspection AAA’ Ajlfc ifA' ?
Cost of material per.kg>a’.;"'
Storage and carrying cost per kg 10% of inventory

. . A A .<■ -A-;
for the year ended 31st March 2018.-______
__________ Particulars
Opening stock of Raw Materials 
Closing stock of Raw Materials 
Directwages 
Factory Rent z 
Machin^purchased> i: ; ~ 
Commission on sales b '. -?\g /
Aytjit^es' - . f
Direct-Expenses A ; . ' ■ f-

X Purphase of Raw Materials ■ . ’ r A;'
\ ■Materials-handling chargcs . b ;; /£

;;^S-y.yjh^rest,bntlbans. ..
; ; ; 0^ salaries f , A, A

depreciation-On, Plant# Machinery 
aMWp ^jre^Materihls _ -■ 
^^^j^'y^ejises : ..
'RMR7 ■' Repairs to.office furniture 
V-''<-:' -“ ; D«monstration Expenses 
Rr-AMA Eumiture loss: by fire .

‘i Carriage outwards <
%^v^W^^4'^Ofe®Equipments 
? y free samp les __________ ________
?FPSOS'‘

guuuo ai uiv vaiw - -------------

^ ^^^^^MjAjSidhber of units sold during the year 9,500

RAM®::
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of Material and put forward you^cbnimenfe^ ;
Particulars

Opening Stock
1
Closing stock

^00,000
75,000 

2,50,000 
2,00,000 
3,50,000

15,000
10,000
30,000

5,000 
5,00,000

75,000

7 
■j'v «.

77
77
77

■7.y

Paper / Subject Code: 230051 Financial Accounting & Auditing: Paper VI Go$^J^

3) Profit desired on sales is 20% 
Prepare Cost sheet showing cost and profit in total as well as

With the help of the following information, prepare the St^J^dger.Aec0up^a^^^

Date
April 2018

1
5

10
15
20
25
30_______________ __ ________ __

Opening stock at the beginning of tfie^indntlr:10:tohne @ ?^000'per tbhne:<?;

(h) From the following informatio^le^tefhe 0,

? 7 36,000

Transactions-' i ?^777?7:y77777

Purchase 40,000 kgs @ ? 7,000 per tonne 7 ?7'7'7'7> '.?i :-7 
tea. 10,000 k8s AX:®;«7*.A?7»i77
Purchase 20,000 kgs @? 8,000 per tonne '
Issue30,000kgs ’ 7; ^77 ?7 -777 7^

Refund of surplus from work order 10 tonne - - ? ■
Issue 30,000 kgs
Excess found in stock litopne. , ,..<<•>■ 77 7-77-, '7;-<

TWWWOOTSf
.... 'W^- ______  , ?r, , :./7? 7-s >.v-fkr.y_____

1 . ::itoerial W)’ 7j, Material ‘B’ (?)

EZithc-MA' - 7® ? - SI ’ ’ <5SClosing stock •'•■.!< .,/ ■•

77; J 7 '■>:■ -7‘ A7-7'" - 77; >'' —
The following figures are available from Financial accounts for the year ended 31st
March 2018. - / - ■ ? ■ ? ■ - .--T:- ' 7 ‘ -■<T'7-

7\f7;< 7, . Particulars
Direct -Jii^^umetf;7 7 77' :. . 7' -T 7; •?''
DirecOg§s?7;'T/.;u- ? T
Pro^toi^^A: 7? '-■ ■ <'77 ■ '' - . ■ 7 / ■' 7 '
Adtniri&W^^^^

x:^ad.-D^7's-777'7--‘.'?77-;-~':4'77.^7'

7:7? inject on'Qepo.sit ^
7;?7?i7?W&l«iished goofeWOO units)

—----------------
^777^7777A^^^^^^W^nKibvered at 30% of prime cost 
7<777-7^W^WW^W^ds at ? 2 per unit of production

»»«»&■<—

y 77£•>■ 77^?;'-777
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(b)

15

08
07

Basic wages per month
D.A
Employee's own contribution to P.F 
Employee's own contribution to ESI 
Employer's contribution to P.F. 
Employer's contribution to ESI 
No. of working hours per month

A'.7.'

(a) V™hFot ln£a 5td-?as fixed the standard time to produce one WW at 20 hours. Standard wages rate fixed is ^25 per hour. A workfe 
of product ‘X in 260 hours.

Calculate his total wages under Halsey Premium Plan andlI®^anBre^uni^Pi^777 
Also Calculate works cost under both the plans if dirept''m^ef^
product ‘X’ is ?= 240 and factory overheads are 250%pf%fim7cdsF22^F%V%;7g®f2

.; ■ 77:7 '7777■ 7- VV
From the following information of a factory, findbpb^an^nfc^^^^h^T^MF 
in cash and also find out the cost of wages per hour of March 2018?

__ •____ ____ -_____________ 77 d-.-, ? ’ % “7 '7 ,,y• /. • ../■ .■ .

~T00%.of Basic wages >77 <
12% of Basic wages . W7® %■ 

‘5.5%pf\Basic wages- >'k7X^.5 
'dg%efE>asiC; wages';
> ......... .

2 ' . % 2,000 hours ' ■ 2 
... .. 2% 2 ' w',22220' .

7 e 45,000 ®2 O' w-
7 ?\ ; :/% ;.K . -, ,/%!>, , ?■- •.•

; .4;5% 6f:Basic wages /
,-w - ■ >' 7.

A) What are the functions and scope of Cost Aceo^tirig?;
B) Explain Fixed, Variable and Semi-Variable.Cost.

Write short notes on (Any Three) ofthe. following:-
a) CostClassi^i^WMba^b^?/"
b) ABC classiffcationpf Inventory
c) Need for reconeiliation
d)
e) D}ee9jy0d§f 2?-2r'w-2

WMSwW 5 -.. 2 ■ -2 .
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2018 (Rs.) 
25,00,000

32,600
8,100

5,91,200 
13,500 
11,800 
12,600 
73,400 
76,300 
68,200

>w statement of bank.

1. All questions
2.
3.
4.
5.

2B62D3962ACB32961EBE3DF A18 E77138

/ Sales--
• 'Retufo-jr

. Purchase of Raw Material
W.brkin progress--Opening

. Work ^progress PCflosing
C losing stock M Raw -mater i a I

£ I
Admiriis.trati've expenses
Finance Expenses (Operating)

per / Subject Code: 23009 I Financial Accounting & Auditing : Paper VII - Management Accountwg^^

P’A Hours] (Total Marks: 75]
Please check whether you have got the right question paper;.

a ii .... — 3 are compu|sory and carry 15 marks eac^ MM;.
Questions no. 2 to 5 have internal option.
Working note should form part of your answer.
Use of simple calculator is allowed.
Figures to the right indicate full marks.

Q 1) A) Match the columns with most appropriate
___________ Column A___________

1) Cash Received from Debtors
2) Bank Overdraft____________
3) Trend Analysis____________
4) Gross Working Capital______
5) Buyback of shares_______
6) Debtors Turnover Ratio
7) Patents ____________ ___
8) Dividend Received________
9) Comparative statements_____
10) Strategic information

choice and .rewrite. (Any Eight) 
__  Column B 
_ .M)OFinancing Activity MM? ?>,_____

b) Efficiency in collection .from debtors
c) Intangible Assets /
d) Investing Activity'
e) Operating Activity. ,
f) Mon quick Liability.' '
g) Total Current Assets_________ '
h) Percentage of Difference _______
i) Top management __________
j) Direction of Data______
k) Quick Assets_____ ___________

,______________________  1) Middle Management___________
Q 1) B) State Whether the following statements are true or false and rewrite. (Any Seven)

1) Capital gearing ratio compares, own fund with owed fund.
2) Increase in the balance of sundry debtors results in cash inflow.
3) Fictitious Assets are shown.under tangible fixed assets.
4) Amortisation of share issue expenses is considering under operating expenses.
5) Long term loans given by a.bank is financing activity in cash flo”'
6) Interest paid on loans reduces he cash flow for operating activity.
7) Common size, analysis- is used for comparing performance of a company in one year 

with that of another year.
8) Only the'balance sheet is used to prepare the statement of cash flows.
9) The cash conversion cycle cannot be negative.
10) The traditional financial statements give all the relevant and required information to 

-show the strength and weakness of the company.

Q2) From the following information of Manoj Ltd. for the year ended 31st March, 2017 and 
. . Prepare comparative statements after rearranging in vertical form

2017 (Rs.) j 
17,00,000 

23,000 
8,200 

3,93,500 
12,500 
13,900

_____ 8,200 
58,400 
75,500 
75,200

suitablc for analysis.
• Particulars'

Return Inward
Opening Stock-'Raw material

54543



2015

9,000

Q 3) Prepare following Balance sheet in vertical form.

3,940.
OR

Page 2 of 9
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100
400

3,940

, V Provision for depreciation:
? ‘ cLian'rl'v^iRnilrKncr

54543

Selling & distribution expenses
Direct Labour_____________________ _
Repairs factory - Building________ ______
Depreciation on Machinery ______

OR
Q 2) Calculate Trend Percentage from the following information extracted from the financial (15) : 

statements of different years. Give your comments. ,_ . ‘ >
2017 ........

Liabilities
Equity Share Capital________
Dividend. Equalisation Reserve 
General Reserve
Profit & Loss A/c " , , " ,
6% Debenture ___________

■ Bank Overdraft
:Sun^rycreditors ’ . ?

- -Unpaid:Diyidehd ,, ' '

_ Particulars
Sales____________
Cost of Sales_____ _
Expenses_________
Interest expenses
Tax

Liabilities :
Sundry Creditors 
Liability for 
expenses______
Share capital

Particulars
Assets:_______
Fixed Assets
Investments
Cash in Hand
Sundry Debtors
Stock_________
Prepaid Expenses

2,11,696 
20,000 
41,680 

1,85,040 
1,31,474

1,690 
5,91,580

.2016
13,640
12,490

130
370
190

____________Assets___________  
Trade Investments_____________
Patents______________________
Land & Building (Cost)_________
Plant & Machinery (Cost)________
Cash & bank Balance___________
Closing stock_______________
Sundry Debtors________________
Bills Receivable____________ __
Short term Deposits with customers 
Underwriting commission________
Preliminary Expenses

1,32,684 
4,094

3,86,654
5,23,432

2017
16,400
14,970

_____ 80 
500 
390

3,48,388
4,68,288

1,17,410
2,490

2018
18,040 
16460 

____ 100 
540 
450

77,175 
1,30,655 

_ 2,196 
4,21,460

1,40,712
5,640

Rs.
1,000

■ 140
220
380, 
500 
300 
420
20
120
340

2,04,580 .
10,000
20,346
85,750.

1,45,172
2,440

4,68,288

4,45,228
5,91,580

1,07,80.0:
2,52,600 
WOO-' 
75,600

3,78-800;' ■
68,000 .

'■ 1,12,500"]

2016
2,08, 694

30,472-
1,31,346
1,34,684___

3,236
5,23,432

2015
9,880
8,810

?X'-"3 50
200
450

2018

Proposed Dividend. ■. , 
. Provision ibr tax '

■ < X - Land & Building ? T;
4^'-? . - Blant&Machinery

Paper I Subject Code: 23009 / Financial Accounting & Auditing : Paper VII - Management Account^

1,65,200 1 ..
9'6
Xv’-'

1,84,122"

18,312

3

(15)
(Figures in ‘000) 

Rs.
400

____ 60_
___ 640 

1,3001 I

____ 60j '
____ 60_ j?.
_ 120. |v

60 by

1,05,669

______
3>13>5S1 M4^21,460 W



I

:w.

10,000

14,000 15,00010,000

15,000 10,000

1,14,20089,500

(15)

2B62D3962ACB32961EBE3DFA18E77138

I 
b

I 
b

1) Raw materials are in stock on
2) Materials
3) Finished goods
4) Credit allowed by creditors is two
5) Credit allowed to debtors is three months./

10,000 
55,000 
20,000 
10,000 
70,000
Page 3 of 9

_____ Liabilities
Share Capital 
Security Premium 
Profit & loss A/c

(15)
2017
30,000

200 Bank balance
14,000
3,500

2018
40,000
25,000
2,000

15,000
17,200

Assets
Plant Machinery

1,000 Property
• • •••

Company._________
Debtors

D.'/bS’
2017
40,000
20,000

2,000

11,000
10'000
2,000

1,14,200

10,000. Share in subsidiary

‘ 15,000

Q 3) Prepare a statement showing a1
18,000 units per year from the following information'.'

Cost per unit (Rs.)
24

~~ ^6
' 18. ..

48
12

average for two. mpjttljs.

.TofGross/Profitc/d

54543

Rs._____
1,50,000

15,000
I.y 4 :To-Opening stock <4/?

$ . ■ TO-wages- _
/ID;./. < ./4Tq- Power &fuel

V.:4 ; • -’-1/
it'2?rt <&////
>■ |' gfeg

Provision for : ;
depreciation
Debenture
Profit on redemption Of
debenture_____ _
Creditors _______ _
Provision for taxation
Proposed Dividend

i 4,000
5,000
1,500

_________ 89,500
Additional Information :
' 1) Plant Costing Rs. 5,000'accumulated depreciation thereon being Rs.3,000 was sold for

Rs. 1,000. The loss on the sale has been charged to Profit & loss A/c.
.. - 2) Tax^paid for the year amounts to Rs. 6.000.

3) An interim dividend ofRs.1,000 had been paid during the year 2018.
I>• Prepares cash flow statement from the above information.

•- Q 4) Trading & Profit & Loss Account for the year ended 31st March 2018 :
----- ^rticulars

... n. - . mono By Sales
By closing stock

Paper, Code: 230M , Flraml., Aeooumin, . V|, 

working capital required to finance theddveldrtctiVii/of . 
fo 110wi n a i n fhrm a t;■. - ■■JrtR' ■? •.'•-''. •- •• 2;

Particulars
Raw materials
Direct Labour______
Overheads_________
Total cost_________
Profit
Selling price ... ..

an average for two months. - ■ '// < ' / / ' .;?
are in process on an average for half amonth. / / ' ...
„ is are in stock on an average fof/tWo months. ' fl .

j month.s>of materials supplied:'>'-'f - •. 'Dz > .

6) Lag in payment of wages is half monthv', . '
7) Cash on hand and at bank expecte^te^d^^-$O^ . '
8) All activities are evenly spread out during/the year’ ' ' , ' '

Q 4) Following are Balance Sheets ofM Ltd. As on 31st March 2017 &2018

2018
55,000



71,500 |
By .Open ing Balan ce.

Page 4 of 9

(08)
(07)

I

(15)

_____ Liabilities
Equity Share capital
Profit & loss A/c
Creditors_________
Secured Loans_____
Bank overdraft_____
Provision for tax
Outstanding expenses

To interim dividend 
To closing balance

To Administrative expenses
To Interest __________
To Depreciation on 
machinery ___________
To selling expenses______
To loss by fire___________
To provision for tax______
To net profit____________

1,65,000
15,000
3,000
5,000

______ I 1,85,000 
Rearrange above in vertical form.

By Gross profit b/d, . 
By rent received , '■'y

Rs 
1,00,000 

25,000 
15,000:. 
10,000 
25,000- 
5,000 
5,000

-0^0(0^

Rs . 
50,000 

. 30,000
20,000 
15,000 
15,000 
12,500 
17,500 
20,000 
5,000

1,85,000

12,000
2,000 
14,500 
20,000 
71,500 
10,000
25,000 L.By Netprpfit , 
35,000

MM

Q 5. A) Distinguish between comparative. & common size statement ?
B) State the different types of working.capital?

Q 5) Write.;shprt,notes on (any three) :
JI Fl^ctk>ns of management accounting. •
2).

•3)<£ash flo.vy from financing activities.
4) Own funds . '

, .5) Cash and cash equivalent

Paper I Subject Code: 23009 / Financial Accounting & Auditing : Paper VII - ManagementAcctiifotC

J L65,Q0Q^ -

— . — • - - - •

2B62D3962ACR^7QRiFRrqricAior^^n

;'33;
20,000' Cv? .'

..............................  ^35^ 
Balance Sheet as on 3 Vf March, 2018

Assets 
. Lancf.& Building 
Plant.&macHinery 

'Furniture^ x . • y 
Stock. ____ '
Debtors____________
Investments____________

Tash 
Goodwill ___________ _
Miscellaneous expenditure



QI (A)

(c)

(B)

(d)

(0
4) Tables

(C) (6)

(5)

4) None of these
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I
1

►

(a)
vjji i-auojicci.

(b) To insert subtotal you must sort the list

A network spans a number of cities and countries.

2) MAN 3)WAN
(q)

. 1)LAN

■ ' ■ 54319: '• ' ■

■■. . ' ■ • •

Time: 2% Hours

Note: 1) All questions carry equal marks and are r* ’ 
2) Figures to the right indicate maximum marks fo:

K^r,S^„C.d.:!!12o,Cl,Wsyslimis

JeXt' of a function can be =-feren^to
To insert subtotal you must sort the list. /SA ' ' S'S S>SS<A
A worksheet may have either a-header of footer, but not both.

Cho-c 3117 Sub'q“es^°'1Js frOm •$)’ W9 m MySQLXMulgple s . (2)

To indicate that there should be^6 integers and 2 decimal positions: we use- 
-------------- ' ,.z 
1) DECIMAL^,2) 2)p^MA£(6,2)<^-?3)DEClMAt(2;^ 4)pEGlMAL(2,8)

(e) To save the transaction we use - ' . ' ? '
1) Rollback/:-’ -2):Save ^.:3)Commit; 4)R^rn
A Database contains one of more >' '
1) Rows 2) Databases 3) Columns

Attempt any six sUbf questions from (g),(h),(i),(jj,(k)<(l)l(m),(n),(o) 
in Data Communications, Networking.and Internet (True/False).

(g) ' Telecommunication system is an example of distributed processing.
(h) A network is used to share hardware and software.
(i) A There is no w.ay.to handle collisions that occur in a bus topology.
'(]) ■■ There are fourtypes of twisted pair cables.

■ . The Presentation layer is qhe of the upper layers in the OSI model.

S’ S ’: - in^e^main name sy^tem .cqm js used for business and commercial
.■' - 4SSS?'A;o®anishtipn;'

.•(pj ' Spo6fmgrefefs..to tricking or deceiving computer systems or other computer

XDj- Attempt any five sub-questions from (p),(q),(r),(s),(t),(u),(v),(w) in Data
Communications, Networking and Internet. (Multiple Choice)

(p) Th.e transmission medium that carries the message is referred to as 
: >'S the,____ . t

1) Protocol 2) gateway 3) Communication channel 4) Transport

,•2).Save ?' :3) Commit

2) Databases



w

(S)

(t)

(U)

(w) 

Q2. (A)

(’]

(8)
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In__
1) Bus

*

(8!

54319 '.

Answer anyone sub-question from (a), (b) in Data Communications, 
Networking and Internet.

(a) Write the four main characteristics of LAN and WAN.

(b) ? .'Write-shprt notes.pn.i) Twisted Pair. Gable ii) Fiber Optic Cable

(B) . Answer any one sub-queStion from (c), (d) in Data Communications,
Networking and Internet.
What is a protocol? Describe .any three layers of TCP/IP protocol.

y£y (d) What is hacking and explain any three types of hackers.
Q3-"(A) ' Ansvyeranyone sub-question from (a), (b) in MySQL 

yi'a table called BEST having the columns
7 Consumer Nurnber.:(CNOvinteger, Primary key), Consumer Name (CNAME,

. 77’^7/^ width 30 columns), Type of Connection (TYPE,
;-.4 25 columns default value "INDUSTRIAL") and

£ BilI-Arnpunt-(BIJ,L,v7idth of 9 including 2 decimals, positive).
\ ? , B^'W^M^^^ent to create a table called COMPANY having columns 

‘ < - kv Employee Number (EN, Integer, should be increased by 1 automatically),
Name of Employee (NAME, character with width 30 columns), Department 
Name (DEPT, character with variable width 20 columns, should not be empty), 
Gender (GENDER, Boolean) and Provident Fund Amount (PF, 8 integer and 2

Paper / Subject Code: 23120 / Computer systems & Applications Pap6rf47;y'£y yy i
topology all the nodes are connected.with a single cable. y 

2) Ring 3) Star ; < <4yNone;dftheSer

is the fastest Internet account; ’ 'y.'.- .'7 •77.7..'
1) ISDN account 2) Shell account 3) Dial-up account 4) Broadban&acc^nt;/

Internet Explorer is referred to as _y_y
1) System Software 2) Utility Software 3) Browsers 4) Internet tools. ;i 7 ' 

<77'k.'.' 7777 yyyyy
Full form of HTTP is Hyper Text'~ Protocol. -7
1) Transfer 2) Transport 3) Terminal .4) Transaction

(v) The protocol to download email and store it in your computer is

1)POP 2)NMTP 3) FTP ' 4)HTTP 
y yyyyyy y

type’bf hackers break into the security system .for non-harmful
reasons. < '
1) Grey hat 2)Blue hat 3)White hat 4) Black hat



c

101

»
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I

5

Answer anyone sub-question fr< 
Explain the following built-in functio;

1)LOWER() 2)LTRIM()

5)ABS() 6)TIME()

per I Subject Code: 231201 Computer systems & Applications

■om (c), (d) in MySQL.;
ns in MySQL^^^^f'

.... I B®
•ontaining’ the columns'^

birth mnn n \ * 7.------v"«ctet / ' • :\gXSS\ X F ((W?JV character, width ’
(DIVISION, character variable width’4). y .' • ■■■' :: ’ :
Write MySQL statements for.the fpilowing.
i) Display the structure of thetable PICNIQ.'
ii) Enter the following one fow^^ , c

" I GENDER {.DIVISION, -I?
-, r : A- ;

(B)
(c)

(d) h!lere exJ>sts a c^lled P1CN,C C0«ftainlig'WcoiumniXoliNyffiben(!^);?i^'-'.?'; 
bKST K>y ’Name (SNAW-Wacter variable,

\ e)’ (WER,.. character, width W
(DIVISION, character variable width 4). .< .' / >

i) Display the structure of the. table PICNIC.'

RNO SNAME l-DOfr
REKHA 2001-03-01 F~

»W
iii) Add a new column Mobile Number (MOB, integer) at the end of the table
PICNIC. 1V ■ ■ • - ”
iv) Delete the row where rollhumber of the student is 56. '' '
v) Change the Date of-Birth of student with roll number 11 toSeptember 7,
1999. /
vi) Change thesize of the columnSName to 30 columns.
vii) Rename the table PICNIC as FUNPICNIC.

Answer anyone sub^question from (a) , (b) in MySQL

(a) There exists a table AMAZON having the columns Purchaser's Number (PNO, 
integer), Purchaser’s Name (PNAME, character), Receipt Number (RNO, 
integer, primary key), Total Cost (TCOST, integer) and Date of Purchase 
(PURDT, date).
Write MySQL statements for the following.
i) Display Purchaser's name, Receipt Number and Total Cost from this table 
where Date of Purchase-is January 1,2018.
ii) bisplay Purchaser’s Name and Total Cost where Total Cost is equal to the 
maximum Total Cost
iii) Display Date of Purchase, maximum and minimum Total Cost grouped by

/ Date of Purchase. .
. ■ iv);Dfepiay Purchaser's Name, Date of Purchase and Total Cost where Total 

Cost is'more than the.average Total Cost
, v).pisplay-Purchasef ’s Name, Total Cost and “Discount" as 10% of Total Cost

‘ 'y-'?'f'"X’

(b) There exists a table INSTITUTE containing columns Roll Number 
(RNO>-integer, primary key), Name (SNAME, character), Age (AGE, integer), 
Fees (FEES, decimal (8, 2)). There exists another table PERFORMANCE

' containing columns Roll Number (RNO, integer, primary key). Total marks 
(TOTAL, integer).
Write MySQL statements for the following.
i) Display Name, Age and Total marks of a student with Roll Number 100 using 
both the tables.
ii) Display Name, Age and Total marks of students getting Total Marks more 
than or equal to 400 using both the tables.
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AVINASH

MAX.
AVG 
MARKS

80
64
38
76
90
85

92
80
65
72
98
90

E_____
MHRM

99
97
80
90
100
98

G____
TOTAL

H_______
AVERAGEECO

F____
COMP•NAME

C 
•ACC

88
60
45
69 
98
87

8.

;:i' ROLL '
■ .A-, - • 

NO.

Q4. (B)
(c)

54319- • -I-'

Paper / Subject Code: 23120 / Computer systems & Applications Paper?)

..?o®
iii) Display Roll number and Total marks of students who have scored.!^,
than average Total Marks using table PERFORMANCE. ■
iv) Display Name and Fees of students who pay•■maximiirniFe'es/uSipg tab^. 
INSTITUTE.

Answer anyone sub-question from (c), (d). in MySQL v /z ■-<<,.’■' 
There exist a table called RMALL containing .columps ^partment^ahi^: 
(DEPT, character), Department Manager .NameXMblA^
Sale (DSALE, date), Sale Amount (SAMT,^numeric)Farid  Discount Amoiujt;-' 
(DISCOUNT,numeric). /'' '■ . ;A?-:• k;<■//'■•
Write MySQL statements for the fpllowing:- / ‘ , •<’.. •' ‘ ' A-. 1
i) Display Department Name, Maua60r;flame, total and average Sale.Amount' ,
grouped aS per Department Manage)*.? . .;- 7 . A-V/j
ii) Display Department Name^aAhger/^nie, minimum and maximum .of the
Discount Amount of each Deparfrnent.. ■ . ■ > ? :
iii) Display all the rowS/WjierefdieSale Amount is equal to maximum Sale
Amount. ■'/ '' . 1 ;/
iv) Display Department-Name,..'Manager Name, Sale Amount where Sale
Amount is between 4^000.arid.7000d. .

(d) There exists a table STUDENT containing columns Roll Number (RNO, integer), 
Students Name (SNAME, character)/ Age (AGE; integer), Mobile Number 
(MOBILE,.integer) and Fees Paid (FPAID, numeric).
Write MySQL queries for the' following.
i) DispJey.-aH the fov/s from this table where Student Name contains *R’.
ii) Display-airthe rows from this table where Age is more than 18.
iii) >Pjsplay RoiLNumber, Student Namelabeled as 'Name of the Student' and 
Fees Paid from this, table;

.iv)\Pispiay Rpll'Number, Student Name and Age’1 from this table where Fees 
PaiSiS-mor^^ 
yj-Display all the rows from this tablein-the’ascending order of Roll Numbers.
vi) Displayjail.the rows from th’is^bie where Age is divisible by 5.
vii) . Display Students Name; Mobile Number and Fees Paid from this table.

Q5-;.. (A) Answer anyone sub-qtiestion from (a), (b) in MS-EXCEL
. ’ < - ;(X). The following data has been■’entered in a worksheet.

A??-:A'-243. j SARNA- • 
<■ ■ J ,'-?' 5' 362 KARANI
\;W'/P^MPATH



(b)

Q5. (B) (7)
(c)

Explain the following built in functions in MS-EXCEL(d)

4.M0DQ3. ROUNDDOWN()2.PPMTQl.FVQ

7.COUNTQ6.SQRTQ5. INT()

Write the steps to obtain
I) Total Marks in column G
ii) Average of best three subjects in column H.
iii) Maximum average marks in cell H9.

1_
2_
2±
2
2
2
8

A________
NAME 
NIRAJ 
KARTHIK 
JAY 
RAVPREET 
RAM 
DHEERAJ
ANUP

A
NAME 
VINAYAK
NAVIN 
PADMA 
MOHAN 
PETER 
MUSCAN
BHAVYA

B_____ _
CITY 
MUMBAI 
PUNE 
MUMBAI 
NAGPUR 
NAGPUR 
PUNE
MUMBAI

C
DEPT
A/C
PUR
ADMIN
PUR
ADMIN
A/C
PUR

C_______
SALES 
78000 
60000 
100000 
68000 
62000 
77000 
75000

D_____
SALARY 
48000 
32000 
25000 
55000 
46000 
30000 
36000

122±222
8

Answer anyone sub-question from (c) , (d) in MS-EXCEL
For the following spreadsheet write the steps to obtain the Pivot table 
showing total salary and lowest salary department wise in column G.

B
AGE
42 .
28
25
44
46
29
32

aper I Subject Code: 23120 / Computer systems & Applications Paper -I

For the following spreadsheet write the steps to obtain the subtotals of sales 
city wise.
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. Answer any two of the following :
a) What are the negative implications of trading blocs on export marketing?
b) Explain the steps involved in global marketing research.
c) Discuss the various components of logistics in export marketing.

. Answer any two of the following :
a) Explain the highlights of Foreign Trade Policy 2015-20.
b) Describe the role of DGFT.
c) Write a note on Negative List of Exports.

. Answer any two of the following :
a) Define Export Marketing. Explain the features of Export Marketing.
b) Explain the challenges of Export Marketing in India.
c) Discuss the Direction of India’s Exports since 2010.

. Answer any two of the following:
a) Write a note on Packaging.
b) What are the factors determining export pricing?
c) Calculate minimum 

can 1. .
Particulars
Ex-factory cost 
Packing cost 
Transportation cost 
Profit contribution 
Duty Drawback

>

i FOB price from the following details. Also calculate foreign exchange that 
be earned if exchange rate 1 US Dollar = 70

Amount (^)
2,80,000

60,000
80,000

10% of FOB cost
10% of FOB cost

[2V1 Hours]
1. All questions are compulsory.
2. Figures to the right indicate full marks.
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1.
2.
3.
4.
5.

1.
2.
3.
4.
5.

1.
2.
3.
4.
5.
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Group B
Absence of middlemen 
2000 US $ Million
INCO terms
Telecommunications and Software
Prohibited item
No profit no loss 
NAFTA

a)
b)
c)
d)
e)
f)
g)

5. Answer the following :
(A) State whether the following statements are true or false.

TRIPs agreement gives protection to patented products.
India is a member nation of ASEAN.
Foreign Trade Policy in India is generally prepared for a period of five years. 
Skimming pricing strategy is adopted by exporters to gain large market share. 
Product labelling helps the customers to identify the product.

(B) Give full form of the following :
SAARC
MEIS
FAS
TRIMs
WTO

(C) Match the following :
Group A

Break even pricing
Services export
Five Star Export House
Human skeleton
Direct exporting

■ . ■
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b) consolidation of banks
d) all of the above

b) SBI 
d) LIC

Q. 1 A) Select the right answer and rewrite the statement (Any 10)

Liberalisation policy was announced on
a) January 1st 1991
c) July 24th 1991

2. Social infrastructure refers to 
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[Time: 3 Hours] AAA’aAA [Marks:100] /
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lease check whether you have got the right question paper. - ' > \

N-B: 1. All questions are compulsory. AA AAA'- AAAA',.. A ■ A
2. Figures to the right indicate full marks? / ' V''

- - . Aa.A/\a A A<'>A
b) April 1st 1991 . '.. ;. x- A/AAAA 
d) None of the above . ' A A1

.. . , _______
a) Agriculture .. -b) Education - • .' '' ■'
c) Real estate d) Manufacturing J": \ •?

is related to girls education? ' ■ A AAa'A -A '
a) Sarva Shiksha Abhiyan - b) RESA . ■ ■ > AA"
c) Beti Padhao, Beti Bachao- .. a) Nene of the above ■ -aA'A':?

4. Farmers need short-term loans.for \  
a) purchase of seeds b) purchase of inputs
c) to meet consumption needs d) all of the above 

is the apex body of rural credit.
a) Government of India b.) Reserve Bank of India
c)NABARD ' d)ADB ?

6. Farmers are not able to realise better .prices because of . 
a) lack of grading b) lack of market knowledge
c) lack ofstorage-facilities d) all of the above

7. Disinvestmentrefers-to  .
a) sale of government ownership b) purchase of shares
c) sale ;of-private securities d); none .of the above

8. IndustrlaLpollution control-is a - ■
•.a^State subject ~ ' < . . b) Central subject

, cX Concurrentsubject dj.None of the above
~ • < sectors are identified for promotion.

■/.^'/Pa^Toufisnt"’ ' b) Medical tourism
. c).both^a) and b) d) none of the above

, lQ, Narasimham Committee recommended
a ■ O. aQ . introduction, of modem technology 

c) liberalizatipu or banking sector 
regulated by

; . C)SEBJ
:^:'^i2^uit^mOtis:ass6ciated with--------
Aa-Aa Government Securities b) private securities

d)saieofoidshares

Oil: B) - State whether the following statements are True or False (Any 10) 
A A ?-.;'o:-<^.^^p^as'launched by Mr. P.V. Narasimha Rao.

India is to attract foreign investment.
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a. What is liberalisation? Explain the different policy measures undertaken to
liberalise the Indian economy since 1991. '

b. Explain the role of social infrastructure related to health.
c. ~ ~

Paper / Subject Code: 23113 / Business Economics V

3. National Nutrition Mission (NNM) is created to ensure effective nutrition '■■■
interventions. : - '

4. Central government allocation to agriculture declined in recent.-years-. • : /■
5. Credit provisioning for agriculture is adequate in India. A ,;?/<//.; ‘
6. Agricultural marketing infrastructure is inadequate in India. J?,. ? C
7. Disinvestment in India is mainly governed by deficit considerations, <•
8. National Green Tribunal is responsible to maintain the envirbnrnent. ,
9. FDI flows into services sector are not satisfactory. . ' ■ ■/ . z
10. Indian banking sector is facing serious threat from non-performing,assets.
11. Indian money market is segmented.
12. Indian insurance sector provides only, life insurance.

Answer any two of the following: .z >•_
1

liberalise the Indian economy since 1991.
r?____i_:__ 4.1________ i_ _r___i_i l_ii.4._ij z_.i_i._ui--.

Explain any seven Sustainable Development Goals.

Answer any two of the following:
a. Explain the main features of National Agriculture Policy 2000.
b. Discuss the role of.different financial institutions in providing rural credit.
c. Explain the policy initiatives to improve agricultural marketing in India.

Answer any two of the following:
a. Bring out the main features of Competition Act of 2002.
b. Explain the measures to promote MSME sector in recent years.
c. Explain-the growth of services sector since 1991.

Answer any 6vo of the following:
a. Explain the recent trends in Indian banking sector.

^b;. Explain the.various money market instruments.
Ac. .Explain the role of SEBI in the development of capital market.

Write short-notes on any four: . 
-\<a. /'Globalisation
/( iT Make in India ' . /

Measures to control industrial pollution 
A ■'Measures’to develop the ’insurance sector

•///’j'’ .A'Af/'Structure of Indianicapital market

// A'';/,: ■ .
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